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Edit Attended Group? : No
Break time : 0

Group Marks : 20
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General Awarenessl

Section Id : 540626708
Section Number : 1
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Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 540626848
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 54062615092 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Dabhoi fort is located in which state?
Options :

1. ¥ Gujarat

2. % Arunachal Pradesh

3. % Kerala

4. % Rajasthan

Question Number : 1 Question Id : 54062615092 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



aTHTs fher fpg Isu & Ry g2
Options :

1. ¢ TORId

2. % IRSUTSA TS

3. % Rd

4. % STV

Question Number : 2 Question Id : 54062615093 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following monument(s) is/are located in Assam?

I. Ahom Raja’s Palace
II. Karenghar Palace

Options :

l. % Only I

2. % Only II

3. % BothIand II
4. #® Neither I nor II

Question Number : 2 Question Id : 54062615093 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofefad & ¥ o I/ TR 39 § fRUd g/8?

1. 381 ISl BT 78
1. HIIR Tgd
Options :

1. % FHadl
2. % HAd II
3. ¢ QYT I gl
4. % 1B



Question Number : 3 Question Id : 54062615094 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Kahalya is a folk dance of which state?
Options :

1. # Goa

2. ¥ Gujarat

3. ¥ Madhya Pradesh

4. ¥ Karnataka

Question Number : 3 Question Id : 54062615094 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
HEed (o YT BT AP I §?
Options :

1. % T

2. ¥ ISRId

3. % G UGN

4. % HAlcd

Question Number : 4 Question Id : 54062615095 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I - YR &1 Fgfafad § § o9 91 3w 981 /2

I SR - g
11. AR — g
Options :

1. ¥ Had |

2. % Had Il

3. % [ UGl



4. % ATEIIATSII

Question Number : 4 Question Id : 54062615095 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following pair of instrument — type is correct?

I. Flute — Sushira
II. Sitar — Ghana

Options :

1. % Only I

2. % Only II

3. % BothIandII
4. ¥ Neither I nor II

Question Number : 5 Question Id : 54062615096 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is/are the policy instrument of Reserve Bank of India?

I. Marginal Standing Facility
II. Open Market Operations
III. Bank Rate

Options :

l. # Tand II

2. % Il and IIT
3. % Only III
4. 1,11 and 11T

Question Number : 5 Question Id : 54062615096 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofefad § ¥ oF I/ YR Reid §& &1 ifara Susr g/g?
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Options :

1. % 1311

2. % [T

3. % had Il

4.4 1,11 QYT I

Question Number : 6 Question Id : 54062615097 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The rate of interest offered by the bank to deposit holders is called the
Options :

1. # Interest rate

2. # Bank rate

3. % Exchange rate

4. ¥ Borrowing rate

Question Number : 6 Question Id : 54062615097 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

J% GRIGH YRPI B G TH A A SR BT BT ol gl
Options :

1. & N &R

2. % dHF R

3. % AR &’

4, ¢ YRR

Question Number : 7 Question Id : 54062615098 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement(s) regarding monetary policy of India is/are correct?

I. The Reserve Bank of India is vested with the responsibility of conducting monetary policy.
II. Market Stabilisation Scheme is one of the instruments of monetary policy.

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. ¥ Neither I nor II

Question Number : 7 Question Id : 54062615098 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Pl Hy/@y 8 1 91/ URd B Ofge A IR A g 2/

1. R Roid § 1 Aifge ifa Tara & &1 fieR urd g
1. SR R0 g1 Hifad i & IuHRul § 9 T g

Options :

1. % Had |

2. % Had II

3. ¢ 1 3R 11 g
4. % qEIIATR I

Question Number : 8 Question Id : 54062615099 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following pair of note — image at back is correct?

I. 2000 — Mangalyan
II. 50 — Hampi with Chariot

Options :
1. % Only I



2. % Only II
3.4 BothIand II
4. % Neither [ nor 11

Question Number : 8 Question Id : 54062615099 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e - O & ot &1 el # o9 T g 9l 82

1. 2000 — HITA
I1. 50 — IY &b Y gaht

Options :

1. % Had |

2. % Had II

3. ¢ 1 AUT I A
4. % qEIIATRIII

Question Number : 9 Question Id : 54062615100 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The total liability of the monetary authority of India, RBI, is called the .

I. Monetary base
II. High powered money

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. ¥ Neither I nor II

Question Number : 9 Question Id : 54062615100 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % FHadl

2. % Had Il

3. ¢ 13RS
4. % qGIIATRIII

Question Number : 10 Question Id : 54062615101 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

For a young adult, the least distance of distinct vision is cm.
Options :

1. %* 10

2.9 25

3. % 15

4. % 8

Question Number : 10 Question Id : 54062615101 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS TG & [T JEY T BT Sfeqad g3l Jo B
Options :

1. * 10

2.9 25

3. % 15

4, % 8

Question Number : 11 Question Id : 54062615102 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Who discovered the electrons?

Options :

1. # E. Goldstein

2. % ]J.J. Thomson

3. # Rutherford

4. #® Neils Bohr

Question Number : 11 Question Id : 54062615102 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
g Dl Wil fhd P12

Options :

1. % 3 e

2. ¥ S, YTHE

3. % IRBIS

4. % HAIR

Question Number : 12 Question Id : 54062615103 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement is correct?

I. Non metallic oxides are basic in nature.
II. Metallic oxides are acidic in nature.

Options :

1. % Only I

2. % Only II

3. % Both Iand II
4. ¢ Neither I nor 11

Question Number : 12 Question Id : 54062615103 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

fafeiRad 7 9 & 91 By I8t 82
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I1. YT SHTRIIE ST UPHA H B 5 |
Options :

1. % PHadl

2. % Had Il

3. % [qUT el

4. I

Question Number : 13 Question Id : 54062615104 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is correct?

I. Xylem transports food to all parts of plant.
II. Phloem transports water and nutrients.

Options :

1. % Only I

2. % Only II

3. % BothIandII
4. ¥ Neither I nor II

Question Number : 13 Question Id : 54062615104 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofefed & ¥ o9 91 Hy= 981 82

L. SIS aH HIoH &1 Uiy & g4t 4T & & ST g |
11, ST 3R Y ddl ] Jagd AT g |
Options :




1. % FHadl
2. % HAd I
3. % [QUT I gl
4. IR

Question Number : 14 Question Id : 54062615105 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The outer most range of the Himalayas is called the
Options :

1. ¥ Shiwaliks

2. # Himadri

3. ¥ Himachal

4. % Aravalli

Question Number : 14 Question Id : 54062615105 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
AU #l Jea dEd YA H! BRI STl
Options :

1. ¢ fRrarfere

2. % feured

3. % fgarEd

4. % 3RTGC

Question Number : 15 Question Id : 54062615106 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which temperate grasslands are found in Australia?
Options :

1. ¥ Down



2. % Pampas
3. % Veld
4. % Steppe

Question Number : 15 Question Id : 54062615106 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3ffeeeran & B J iAo eI U o 82
Options :

1. ¥ 3131

2. % U

3. % 98

4. % Ul

Question Number : 16 Question Id : 54062615107 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following pair is correct?

I. Seasonal winds — blow throughout the year in a particular direction.
II. Local winds — blow only during a particular period of day or year in a small area.

Options :

1. * Only I

2.9 Only II

3. % BothIandII
4. # Neither I nor II

Question Number : 16 Question Id : 54062615107 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o A P T T 9e1 82
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Options :

1. % Had I

2. ¥ Had Il

3. % [ QYT
4. % qEIIATR I

Question Number : 17 Question Id : 54062615108 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following tree belongs to tropical deciduous forest?

I. Shisham
II. Keora

Options :

1. ¥ Only I

2. % Only II

3. % Both Iand Il
4. ® Neither I nor II

Question Number : 17 Question Id : 54062615108 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafeiad 7 @ o 1 s W sfesddt gofurd a7 @ J&6fa g2

1. 2fieH
1. B3R

Options :

1. ¥ $Had |

2. % Had Il

3. % [ UGl



4. % ATEIIATSII

Question Number : 18 Question Id : 54062615109 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following pair regarding range enclosing the Ladakh is correct?

I. Karakoram — North
II. Zanskar — South

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. ¥ Neither I nor II

Question Number : 18 Question Id : 54062615109 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TERG b oo § udd 07 &1 I I TH a1 32

I. PRIHRH — IR
1. STk — Gf&ruT
Options :

1. % Had 1

2. % Had Il

3. [ QYT ISl
4. % GBI

Question Number : 19 Question Id : 54062615110 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In which year did the Civil Disobedience Movement took place?
Options :



1. * 1922
2. ¥ 1930
3. % 1919
4. % 1925

Question Number : 19 Question Id : 54062615110 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
o 3fasT S by an & gaiT U1
Options :
1. % 1922
2.9 1930
3. % 1919
4. % 1925

Question Number : 20 Question Id : 54062615111 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Anangapala ruled in Delhi during .
Options :

1. ¥ 1130-1145

2. % 1165-1192

3. % 1206-1210

4, % 1210-1236

Question Number : 20 Question Id : 54062615111 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

STaTe A foeet | & R X o T
Options :

1. % 1130-1145

2. % 1165-1192



3. % 1206-1210
4. % 1210-1236

General Awareness2

Group Number : 2

Group Id : 540626535
Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No

General Awareness2

Section Id : 540626709
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 540626849
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 54062615112 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Third battle of Panipat was fought in the year
Options :
1. ¥ 1761
2. % 1748
3. % 1775
4. % 1769

Question Number : 21 Question Id : 54062615112 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

O 1 sl ders Iy EESSRIRIKI
Options :

1. ¥ 1761

2. % 1748

3. % 1775

4. % 1769

Question Number : 22 Question Id : 54062615113 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
was the founder of Hyderabad state.

Options :

1. # Nadirshah

2. % Aurangzeb

3. ¥ Ahmed Shah Abdali

4. ¥ Nizam-UL-Mulk Asaf Jah

Question Number : 22 Question Id : 54062615113 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SERTETE I BT R AP A

Options :



1. % qife=E

2. % IR

3. % 3GHG X8 3fegal

4. ¢ FANIMH-3d-Heeb SMAHSTE

Question Number : 23 Question Id : 54062615114 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Lord Hastings was governor general from
Options :

1. # 1815 to 1825

2. % 1813 to 1823

3. % 1811to 1819

4. % 1805 to 1825

Question Number : 23 Question Id : 54062615114 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
AT qF TR SR A
Options :

1. % 18159 1825

2. ¢ 18139 1823

3. % 1811 91819

4. % 1805 9 1825

Question Number : 24 Question Id : 54062615115 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
World Earth Day is celebrated on April
Options :

1. ¥ 22



2. % 28
3.% 10
4. % 16

Question Number : 24 Question Id : 54062615115 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
aee o 3 3 B AR Sl B |
Options :

1. ¥ 22

2. % 28

3.% 10

4. % 16

Question Number : 25 Question Id : 54062615116 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Khanjar military exercise was held between India and
Options :

1. % Uzbekistan

2. ¥ Kyrgyzstan

3. # Turkmenistan

4. % Kazakhstan

Question Number : 25 Question Id : 54062615116 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

WOR U= 3G YR T o S g ATl
Options :

1. % IoelfhEdr

2. ¢ fofifeam



3. % gHAME
4. % DOl

Question Number : 26 Question Id : 54062615117 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Headquarters of UNDP are located in
Options :

1. ¥ USA

2. # Australia

3. % Switzerland

4. # Canada

Question Number : 26 Question Id : 54062615117 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T3 . &1 ey AfRaz
Options :

1. ¥ 4ug.30

2. % 3ffecfer

3. % WicoRdS
4. % BTG

Question Number : 27 Question Id : 54062615118 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which country hosted the 1st BRICS Employment Working Group meeting?
Options :

1. # South Africa

2. # Brazil

3. % India



4. % China

Question Number : 27 Question Id : 54062615118 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o1 3R 313 1. 0. STrIHE Ifeh 1 YU 1 Ugell W BT Aoral g Gx1 4 Bl
Options :

1. % CR&UT 3WpIeh

2. ® §itd

3.9 YRd

4. % JH

Question Number : 28 Question Id : 54062615119 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who was declared Femina Miss Grand India 20207
Options :

1. ¥ Manika Sheokand

2. # Shivani J Jadhav

3. % Shreya Shanker

4. % Manya Singh

Question Number : 28 Question Id : 54062615119 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

BT g U gfear 2020 T 9ifva far mar 82
Options :

1. ¢ AftrhT RAhe

2. % @S SYg

3. % 9T R

4. % g1 g



Question Number : 29 Question Id : 54062615120 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The bilateral maritime exercise SIMBEX-20 was held between India and
Options :

1. % Philippines

2. % Singapore

3. % Japan

4. % Sri Lanka

Question Number : 29 Question Id : 54062615120 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feuelt Tl 31T SIMBEX-20, HRATUT & i< gafm Tl
Options :

1. % fodidig

2. ¢ IR

3. % MU=

4. % giciopl

Question Number : 30 Question Id : 54062615121 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the name of the Indian Navy's 5th Scorpene class submarine?
Options :

1. # INS Vagsheer

2. % INS Vela

3. ¥ INS Vagir

4. # INS Kalvari

Question Number : 30 Question Id : 54062615121 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

YRI5 &t TH RO Farg Ugel &1 o 11 82
Options :

1. % 373.04.09. IRk

2. % 313 UA.TY. dal

3. ¢ 35, UA.TY. ariR

4, % 3MT3.UA.0Y. BT

Question Number : 31 Question Id : 54062615122 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The Saras Aajeevika Mela 2021 took place in
Options :

1. # Delhi

2. ¥ Noida

3. % Gurugram

4. ¥ Faridabad

Question Number : 31 Question Id : 54062615122 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Y folifadI Aar2021 WGl
Options :

1. % oot

2. ¢ TSI

3. % =YW

4. % RIGIETG

Question Number : 32 Question Id : 54062615123 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Which article of Indian constitution is related to citizenship at the commencement of the constitution?
Options :

1.*9

2.¥5

3.% 2

4. % 11

Question Number : 32 Question Id : 54062615123 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YRATT TfaeM & S 91 3w Sfau™ & URY & ARl 3 Jefird g2
Options :

1.#9

2.¥5

3.% 2

4. % 11

Question Number : 33 Question Id : 54062615124 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR AU BT B I ST o THT T R & 3fded § Fafird g2
Options :

1. ® drst

2. ¢ ARfY

3. % giFdl

4. % i

Question Number : 33 Question Id : 54062615124 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which schedule of Indian constitution is related to allocation of seats in the council of states?



Options :
1. * Third
2. ¥ Fourth
3. # Fifth
4. * Ninth

Question Number : 34 Question Id : 54062615125 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Nation Judicial Appointment commission was established through which constitutional amendment?
Options :

1. ¥ 99

2. % 106

3. %91

4. % 87

Question Number : 34 Question Id : 54062615125 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Tt =i g s e SR e gRT i R 7
Options :

1. ¥ 99

2. % 106

3. %91

4, % 87

Question Number : 35 Question Id : 54062615126 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fofifed 7 3 o1 99 gl &1 WrT 82



I. G 3R wMifd
11, Frspur (gacawm)

Options :

1. % Had I

2. % Had I

3. ¢ 1 qUTIL A
4. % qEIIATR I

Question Number : 35 Question Id : 54062615126 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is a part of Union list?

I. War and peace
II. Extraction

Options :

1. % Only I

2. % Only II

3. % Both I and I
4. ® Neither I nor II

Question Number : 36 Question Id : 54062615127 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following sport has 11 players in a team?
Options :

1. ¥ Hockey

2. % Basketball

3. # Volleyball

4. % Handball



Question Number : 36 Question Id : 54062615127 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fofdead S p A Qad dqd 1 fearst gid 82
Options :

1. ¢ gleb!

2. % §RbCHId

CINIEIS|

4. % gsaid

Question Number : 37 Question Id : 54062615128 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which country will host the 2023 FIH Hockey Men’s World Cup?
Options :

1. % Spain

2. ¥ India

3. # Belgium

4. % Argentina

Question Number : 37 Question Id : 54062615128 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2023 U 3718 Td. Bid! J& T6a HY P HOIa P11 G- B2
Options :

1. % W

2. % HRd

3. % dfcsrad

4. % oIS

Question Number : 38 Question Id : 54062615129 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

2018 Hed Wdl #§ YRd A $d fdha- U sid?
Options :

1. % 72

2. % 58

3. % 60

4.9 66

Question Number : 38 Question Id : 54062615129 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How many total medals did India won at 2018 commonwealth games?
Options :

1. #® 72

2. % 58

3. % 60

4. ¥ 66

Question Number : 39 Question Id : 54062615130 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following pair of sportsperson — sports is correct?

I. John McEnroe — Tennis
II. Gareth Bale — Football

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. ¥ Neither I nor II



Question Number : 39 Question Id : 54062615130 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

RISt — e 1 FEfiad # J &1 A1 g w8l 52

L. 519 AbRI - e
IL. Y 9 - Feara
Options :

1. % $Had 1

2. % Had Il

3. [ QYT I gl

4. % I I

Question Number : 40 Question Id : 54062615131 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following pair of tournament — sports is correct?

I. Thomas cup — Tennis
II. Deodhar trophy — Cricket

Options :

1. ® Only I

2.9 Only II

3. % BothlIandII
4. % Neither I nor II

Question Number : 40 Question Id : 54062615131 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e - Bd o1 FRefifad 7 3 o 91 gm agl 82

L Mg HY - g
1. GatR Tt - fhdie



Options :

1. % FHadl
2. ¥ Had Il
3. % [ UGl
4. % qGIIATRIII

General Abilityl
Group Number : 3
Group Id : 540626536
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No
General Abilityl
Section Id : 540626710
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 20
Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 540626850

Question Shuffling Allowed : Yes



Question Number : 41 Question Id : 54062615132 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.

AC, DG, GK, JO, ?
Options :
1. * MR
2. % NS
3. ¥ MS
4. % NR

Question Number : 41 Question Id : 54062615132 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 3gepd fear mar ], ford @ v ue g 7| iU U fawed! & 3§ 98 Wt fadwen gig, St 3rgehd &l [T |

AC, DG, GK, JO, ?
Options :
1. % MR
2. % NS
3. ¥ MS
4. % NR

Question Number : 42 Question Id : 54062615133 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.

TGK, VDO, XAS, ?, BVA
Options :

1. % ZYW

2. ¥ ZXW



3. % ZXV
4. %= ZXZ

Question Number : 42 Question Id : 54062615133 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 3 feran T B, R A U Ue g 21w T et A & o8 U8 Rehed 9, S g B R AR

TGK, VDO, XAS, ?, BVA
Options :

1. % ZYW

2. ¥ ZXW

3. ® ZXV

4. % 7ZXZ

Question Number : 43 Question Id : 54062615134 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A series is given with one term wrong. Select that wrong term from the given alternatives.

PRAM, WIHD, DZOV, KQVL, RHCC
Options :

1. * WIHD

2. % RHCC

3. ®* KQVL

4. ¥ DZOV

Question Number : 43 Question Id : 54062615134 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS 3Iehd foan T 3, ford § U UG 7ad ¢ | 3T T faswed! & 9 39 7 ug &I gu|

PRAM, WIHD, DZOV, KQVL, RHCC



Options :

1. ¥ WIHD
2. % RHCC
3. % KQVL
4. ¥ DZOV

Question Number : 44 Question Id : 54062615135 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, select the odd word from the given alternatives.
Options :

1. # Poet

2. % Land

3. ® Driver

4. % Doctor

Question Number : 44 Question Id : 54062615135 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraferad uy & fau 7u fawedl & 9 favm 2sg o1 gAu|
Options :

1. % Bid

2. ¥ YW

3. ¥ QTN

4. % SldcX

Question Number : 45 Question Id : 54062615136 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, select the odd word pair from the given alternatives.
Options :

1. *® Curd — Milk



2. % Paper — Pulp
3. # Rubber — Latex
4. ¥ Ore — Metal

Question Number : 45 Question Id : 54062615136 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy ¥ fiu e fawedt & § faww wrss g &1 gl
Options :

1. % ggl-gy

2. % DN —Tal

3. % 3§98 — e

4.« 3{qIh — YIJ

Question Number : 46 Question Id : 54062615137 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, four letter pairs are given. The letters on left side of (—) is related to the letters on the right side of (—) with some
Logic/Rule/Relation. Three are similar on basis of same Logic/Rule/Relation. Select the odd one out from the given alternatives.

Options :

1. % PGK — FMJ
2. % LND-YTF
3.¥ ACB - VIU
4. % TIQ-LPN

Question Number : 46 Question Id : 54062615137 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T feumuuy ¥, AR SR g AU MU || () & arft SR o8 T 31eR (o) & <t 3R ol T 3R ¥ fardt adh/MMam sy ¥ Gefia 1
I U do/ /ey & SMUR IR 97 g | 738 T fawed # ¥ faww &1 gf-u|

Options :

1. ¥ PGK — FM]J



2. % LND - YTF
3.+ ACB - VIU
4. % TIQ-LPN

Question Number : 47 Question Id : 54062615138 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, a group of letters is given. The letters of each group are related with the letters of the same group by some
Logic/Rule/Relation. From the given alternatives, select a group of letters which follows the same Logic/Rule/Relation.

(AM, DJ, GG)
Options :

1. % (PQ, ST, VW)
2. % (CD, ZG, W)
3. % (RS, UP, XM)
4. % (TW, WT, ZP)

Question Number : 47 Question Id : 54062615138 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FrafaRad Uy &, 31eRi &1 Ue 99g [ T 8 | TS g & 18R 39! THg & 31&RI & a1 fovy dob/ad&dey 9 defid g1 fad e
famedl & I 3R] B U g ®I gHY ol THM dob/aH/AeY BT T8R0T BT 81|

(AM, DJ, GG)
Options :

1. % (PQ, ST, VW)
2. % (CD, ZG, WJ)
3. ¥ (RS, UP, XM)
4. % (TW, WT, ZP)

Question Number : 48 Question Id : 54062615139 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



In the following question, select the related letter pair from the given alternatives.

LOP:LLJ:?
Options :

1. % TRA : VOR
2. % MPX : TNK
3. % CRY : UOE
4.+ OBC:YYM

Question Number : 48 Question Id : 54062615139 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy o fau e fawed! & 4 defia sier g o1 gl

LOP:LLJ::?
Options :

1. ¥ TRA: VOR
2. % MPX : TNK
3. ¥ CRY : UOE
4. ¥ OBC:YYM

Question Number : 49 Question Id : 54062615140 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, a group of letters is given. The letters of each group are related with the letters of the same group by some
Logic/Rule/Relation. From the given alternatives, select a group of letters which follows the same Logic/Rule/Relation.

(ASD, VKS, KCN)
Options :

1. % (JRC, UJB, TBN)
2. ¥ (TCK, CUL, DMU)
3. ®# (PLO, GDG, ZVY)
4. % (SBJ, BTK, CMT)



Question Number : 49 Question Id : 54062615140 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraferiad we o, 31erl &1 Ue Wig fear T 8 | U g & 31&R 3! THg & 3HeRT & 9rY fohg ddb /Mo idy ¥ defia g1 fad e
famedl & I 3R] B U g DI gHY ol THM dob/aH/AeY BT IR0 BT 81|

(ASD, VKS, KCN)
Options :

1. * (JRC, UJB, TBN)
2. ¥ (TCK, CUL, DMU)
3. * (PLO, GDG, ZVY)
4. % (SBJ, BTK, CMT)

Question Number : 50 Question Id : 54062615141 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language, ‘“WIRE’ is called as ‘GATE’, ‘GATE’ is called as ‘DOGS’, ‘DOGS’ is called as ‘KEYS’, ‘KEYS’ is called as ‘CAT”,
‘CAT’ is called as ‘PEN’. What are used to open gate?

Options :
1. * Dogs
2. ¥ Cat
3. * Keys
4. % Pen

Question Number : 50 Question Id : 54062615141 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T A1y ®Ie T H, <aR° &1 “RIGSI T Sl §, “aRamSl Bl ‘P’ &gl oldl g, ‘Pl P! ANfSar Hel ol &, “anaal & faety
BT olldT g, fIwtl” BT U HT 11 8 | Sarel Tieq & fort forget ST fasar Sirar g2

Options :

1. % P
2. ¢ focal




3. % grfear
4. % U9

Question Number : 51 Question Id : 54062615142 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language, ‘A blending of cultures’ is written as ‘jz lo mp cf’, ‘They fell of a tree’ is written as ‘gt mz mp jz ef”. What is the code
for ‘a of” in that code language?

Options :
1. # cfef
2. % jzmp
3. % lomp
4. % jz gt

Question Number : 51 Question Id : 54062615142 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U fAfRy dlg Ui d, A blending of cultures’ Gl ‘jzlo mp cf’ ﬁ”IETGﬂﬂT%, ‘They fell of a tree’ Cal ‘gt mz mp jz ef’ foraT ST 81 RIS
YT # <a of” T DTS T 82

Options :

1. % cfef

2. % jzmp

3. % lomp

4. % jz gt

Question Number : 52 Question Id : 54062615143 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language, ‘THRICE’ is written as ‘53918820°, ‘AUBADE’ is written as ‘5412211°. What is the code for ‘CLOCHE’ in that
code language?

Options :
1. % 58395263



2. % 58965142
3. ¥ 58985253
4. % 58315123

Question Number : 52 Question Id : 54062615143 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U ARV B8 UIWT H, “THRICE’ BT *53918820° forRaT SITAT 8, ‘AUBADE’ 1 5412211 foRaT SIId1 8| 39 I8 HINT H ‘CLOCHE’ BT HIg
T 82

Options :

1. % 58395263

2. % 58965142

3. % 58985253

4. ¢ 58315123

Question Number : 53 Question Id : 54062615144 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language, ‘INTERNET’ is written as ‘ADHQJDSF’. What is the code for ‘DECEMBER’ in that code language?
Options :

1. ¥ VUQQERSD

2. % VUQQERDS

3. ¥ VUQQREDS

4. % VUQQRESD

Question Number : 53 Question Id : 54062615144 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U Ay HIs HIWT & INTERNET’ &1 ADHQIDSF’ foraT SiTaT 81 39 Ig HIST # ‘DECEMBER’® &1 IS T 82
Options :

1. ¥ VUQQERSD

2. % VUQQERDS



3. % VUQQREDS
4. % VUQQRESD

Question Number : 54 Question Id : 54062615145 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T SIRIT Fe H Ui Sifie D1, D2, D3, D4 YT DS A L1, L2, L3, L4 AUT LS H Y T HINT Sicil (SRS Tol b1 381 shH H 8l) | Big HI
&l Sferie 3 FHM HTET gl Sidl | D5 3 L2 9YT LS 8! Sl | L3 TUT L4 HHR: D1 99T D3 gRIT sial a1 1 L2, D4 gRT et arent 14t 2| D2
SRT &1 Ut HreT dielt Y ot

Options :

1. % L1

2. ¥ 12

3. % 13

4. % L29TL5

Question Number : 54 Question Id : 54062615145 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

At a international summit five delegates D1, D2, D3, D4 and D5 spoke one language from L1, L2, L3, L4 and L5 (not necessarily in the same
order). No two delegates spoke same language. D5 did not speak L2 and L5. L3 and L4 were spoken by D1 and D3 respectively. L2 was not
spoken by D4. Which language was spoken by D2?

Options :

1. % L1

2.9 1.2

3. % L3

4. % L2orL5

Question Number : 55 Question Id : 54062615146 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Eight girls G1, G2, G3, G4, G5, G6, G7 and G8 are sitting around a circular table facing opposite to the centre (not necessarily in the same
order). G2 is second to the left of G4. G6 is third to the left of G2. G1 is second to the left of G6. G3 is second to the left of G1. G7 is third to the



left of GS5.
Three of the following options are similar by a certain logic and forms a group. Which of the following does not belong to that group?

Options :

1. % GI, G6, G7
2. % G2,G5,G8
3. % G2,G5,G3
4. ¥ G4, G2, G8

Question Number : 55 Question Id : 54062615146 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

318 AS(HAT G1, G2, G3, G4, G5, G6, G7 TUT G§ B3 o [AURI T TP U IR ol B 3¢-11G, So! 83 & (e -Tal i 34! v &
81 G2, G4 & ST 3R TR RIM W g1 G6, G2 & 1T 3R TRR ™A W 81 G1, G6 & Il 3R R WM W B G3, G1 & I1T 3R g
RFAW I G7, G5 P TR iR TR UE R B

fFrafifad e 7 § 7 ve ARy 9 | Fefid § au1 T 99 991d § | Fefied 3 § o 91 39 998 ¥ Jefia T8t 32

Options :

1. % G1,G6, G7

2. % G2, G5, G8

3. % G2,GS5, G3

4.% G4, G2, G8

Question Number : 56 Question Id : 54062615147 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A family of seven persons A, B, C, D, E, F and G are going to one place from P1, P2, P3, P4, P5, P6 and P7 (not necessarily in the same order).
No two person are going to same place. D and E are not going to P6. B is going to P5. A and G are not going to P7 and P1 respectively. C is
going to P4. F is not going to P2 or P7. D and F are not going to P2, P3 or P7. If G is going to P7, then where A is going?

Options :

1. % P2

2. %P3

3. %P6

4. ¥ P2 or P3



Question Number : 56 Question Id : 54062615147 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T GRAR & Td ol A, B, C, D, E, F AT G, P1, P2, P3, P4, P5, P6 AT P7 & U Teh R TR o1 I8 & (TR 781 b s pH A 8y | is ot
3 fd THM M W T8I ST &1 D TUTE, P6 W T8I STIQ &1 B, P5 TR STIBT &1 A TUT G HHTT: P7 9UTP1 R T8I ST &1 C, P4 TR ST
TGI8 I F, P2 AT P7 IR -G GBI g D TUTF P2, P3 AT P7 W ARG MR & 1 TS G, P7 IR S IGT B, Al A BT oI W8T 82

Options :

1. % p2

2. % p3

3. % pg

4. P2 TIP3

Question Number : 57 Question Id : 54062615148 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Eight persons P, Q, R, S, T, U, V and W are sitting around a circular table facing towards the centre (not necessarily in the same order). They
belongs to one profession from M1, M2, M3, M4, M5, M6, M7 and M8 (not necessarily in the same order). Profession of no two persons is
same. Q is sitting third to the left of U. S is sitting fourth to the left of T. Person having profession M3 is to the immediate right of Q. Person
having profession M1 is sitting exactly opposite to V. Q belongs to M6. S belongs to M5 and only S is sitting between R and W. Only one person
is sitting between U and V. R belongs to M7 and is sitting third to the right of P. Only two persons are sitting between person having profession
M2 and M1. U does not belong to M2. P belongs to M8. Which of the following statement is not correct?

Options :

1. # Person having profession M1 is sitting second to the left of person having profession M7.
2. % Person having profession M2 is sitting third to the left of person having profession M6.
3. ¥ R and U are sitting exactly opposite to each other.

4. % R and V are the immediate neighbours of Q.

Question Number : 57 Question Id : 54062615148 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
B AMGIP, Q, R, S, T, U, V AU W Hg DI 3R T dRh Udh JAIHR Sl & 36-11C 96 U B (SR -Tg1 bt 34T HH H &1 I M1, M2, M3,
M4, M5, M6, M7 dUT M8 H ¥ T a9 T Tafdd g (SRe) el &1 38 A H 8| Dis Hi &) gl b1 aaud G I8i 81 Q, U &




IR 3R TR RIF W IBT AT B S, T b IRl 3R 1Y RIF W 931 §3HT 3 | M3 HaH™ d1a1 Q & g G/ 3R g1 M1 ST arell V &
3% [ARId 81 g3 g1 Q, M6 A TEfIA B 1 S, M5 T USfd g TUTR Ud W & &I hadl S 931 g1 U AUV & A had U Afad dol gafl
2R, M7 ¥ T & quT P & St 3R IR RIM TR 931 g3 81 M2 TUT M1 SIaYT a1 safeid] & Hed had &l Afad 9o U1 U, M2 |
ST T8 g1 P, M8 I Taiftid g | FHfaRad & 3 &1 91 HuF W8l el 82

Options :

1. % M| I 9Tl SFfad, M2 a9 aTd Sfad & ardl 3R GOk RIF IR 931 g3 3|
2. ¥ M2 G dTel Safad, M6 a9 aTel sfad & ardl 3R R RIF TR 931 g3 3 |
3. % RAYTU UH QIR & o [AuRId d6 gU |

4. % RAUTV, Q & Npecaa us il g1

Question Number : 58 Question Id : 54062615149 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Eight workers P, Q, R, S, T, U, V and W are sitting around a circular table facing towards the centre (not necessarily in the same order). Q is third
to the left of P. U is second to the right of P. R is second to the right of W. U is second to the left of W. T is second to the right of V. V is not the

immediate neighbour of U.
Which of the following statement(s) is/are correct?

I. T is not the immediate neighbour of P or U.
II. S is third to the right of P.

II1. U is to the immediate left of T.

IV. Q is second to the left of V.

Options :

1. # Iand III

2.% [land IV
3. % Il and III
4. % Only III

Question Number : 58 Question Id : 54062615149 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

33 ASIGR P, Q, R, S, T, U, V TUT W % BI 3R T B Th JIBR Al & 30-113 96 §U S (SRt el B g wH A BN | Q, P P ot
IRTM VARG U,PFH A SIREMRBYMATREGIR, WH ST SIRGIR VAW U, W Il IR IR V™AW I T, V& gl 3R
TR YA R BV, U BT Adhead usRi T8 g




fFafeied # 9 &9 A1/ U 981 8/5°

LT, P dT U &1 fAdcard usiit 78t g
IL'S, P& giff IR AR VA R B

IIL. U, T & g a1t 3R B

V. Q, V% 9 3R g WM W |
Options :

1. % 1 qUTIII

2. ATV

3. % I dYTI

4. % Had I

Question Number : 59 Question Id : 54062615150 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question below are given some statements followed by some conclusions based on those statements. Taking the given statements
to be true even if they seem to be at variance from commonly known facts. Read all the conclusions and then decide which of the given
conclusion logically follows the given statements.

Statements:
I. Some pen are pencil.
II. No rubber is pencil.

Conclusions:
I. All rubber are pen.
II. Some pencil are pen.

Options :

1. % Only conclusion I follows

2. % Only conclusion II follows

3. # Both conclusions I and II follows

4. % Neither conclusion follows

Question Number : 59 Question Id : 54062615150 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

9 foU T Uy B 58 U SR 3% 918 31 Bl R YR & (55 fal T G| ﬁnwaﬁwﬁﬁﬂ%’rmﬁ T8 34 ATE J1d ai
ﬁﬁw@mﬁﬁw&fuﬁaﬁvﬁwﬁuﬁﬁﬁ%mwﬁqﬁﬁwﬁ U U Bl F YR W YfFaaa |

$2F['

3 Had, IR g
11 ﬁ‘s‘ﬂ-ﬁi‘d‘s’ SRR

fsep:

L. gt s, AU |

II. $3 URE, Far g

Options :

1. % $Had FT5HY [ 3FIERU Sl §

2. ¢ Had 56 11 TRV HRaAT R

3. % G (FIShY [ T 11 SFJAR0T 6’ &
4. % DIz W} FIopY SR 8 R §

Question Number : 60 Question Id : 54062615151 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question below are given some statements followed by some conclusions based on those statements. Taking the given statements
to be true even if they seem to be at variance from commonly known facts. Read all the conclusions and then decide which of the given
conclusion logically follows the given statements.

Statements:

I. Some watch are black.

I1. No black is bottle.

Conclusions:
I. All watch are black.
II. All bottle are watch.

Options :

1. # Only conclusion I follows

2. % Only conclusion II follows

3. % Both conclusions I and II follows

4. # Neither conclusion follows



Question Number : 60 Question Id : 54062615151 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 foU T Uy ¥ 58 U 3R 39D 918 31 Bl R SMUTRT & (b U T | 3T T Hy=1 &I 9! AM, 1e 374 AE= 1 a2t
3 firerar 811 gt e o SR fimR FRaffea &% o fau o o1 T fse, 3w 71T AT & SR W gfeaaia 8|

DY:
I. @@:a?ﬁ, BTl B
1. ®ig i BT, Sidd T8l 2

fsep:

L. gt oS, w1t |

1. g4} Siaa, gt 8

Options :

1. % Had (sHY [ 3T HT §

2. % Had BN 11 IR0 Hl §

3. % G (IShY [ T 11 SFJAR0T % &
4. ¢ B 1 FIspy SRR T BRaT g

General Ability2

Group Number : 4

Group Id : 540626537
Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No



General Ability2

Section Id : 540626711
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 540626851
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 54062615152 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question below are given some statements followed by some conclusions based on those statements. Taking the given statements
to be true even if they seem to be at variance from commonly known facts. Read all the conclusions and then decide which of the given
conclusion logically follows the given statements.

Statements:
I. Al L are A.
II. NoAisF.

Conclusions:

I. NoLisF.

II. Some A are L.
III. Some F are A.

Options :

1. # Both conclusions I and III follows
2. # Both conclusions II and III follows
3. # All conclusion follows

4. % Both conclusions I and II follows



Question Number : 61 Question Id : 54062615152 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 foU T Uy ¥ 58 U 3R 39D 918 31 Bl R SMUTRT & (b U T | 3T T Hy=1 &I 9! AM, 1e 374 AE= 1 a2t
3 firerar 811 gt e o iR fpR Faffead &% o fau o 19 T fse, T 71T AT & SR R gfeaeia 8|

DHY:
L9, AT
L3S A, FAS B

Py

L ®is Wi, Fd gl
IL.FS A, L3I

L. $SF AG

Options :

1. % QI 5By 1 aYT 111 IR0 % &
2. % I FSHY 11 qT 111 3FIERUT 63l &
3. % gt FpY SRRU v §

4. G FTSHY 1 T 11 38R0 $H_d §

Question Number : 62 Question Id : 54062615153 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question below are given some statements followed by some conclusions based on those statements. Taking the given statements
to be true even if they seem to be at variance from commonly known facts. Read all the conclusions and then decide which of the given
conclusion logically follows the given statements.

Statements:
I. All honey are chair.
II. No pink is honey.

Conclusions:

I. Some chair are not pink.
II. Some honey are not pink.
II1. Some chair are honey.



Options :

1. # Both conclusions II and III follows
2. % Only conclusion I follows

3. % Both conclusions I and II follows

4. % All conclusion follows

Question Number : 62 Question Id : 54062615153 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 3T T Uy H 8 U 3R 3% 918 31 HUHI IR ARG $S ﬁﬁb‘ﬁfﬁqw%lﬁqw$ﬁﬁﬂ€mﬁ T8 314 ATE J1d adi
ﬁmﬁlﬂmmﬁﬁmﬁﬁhﬁﬁ%mwﬁﬁﬁwﬁ U T HY= & SMYR R e g |

hYyd
Imﬁ‘ﬂ%ﬁ FA g
1. ®Ts W e, T8 T8t B

ey

1. $© I, el T8 8
1. $© 84, W:@%I
1. $S $4I, V63 &
Options :

1. % QI FShY 11 TUT 111 3II¥R0 Hd §
2. % Had hY [ IR BT §

3. % QAT S 1 T 11 3FIRRUT A ©
4.« 9} FIsh S SFRRUT Rl §

Question Number : 63 Question Id : 54062615154 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question below are given some statements followed by some conclusions based on those statements. Taking the given statements
to be true even if they seem to be at variance from commonly known facts. Read all the conclusions and then decide which of the given
conclusion logically follows the given statements.

Statements:



I. All bottle are good.
II. No bad is bottle.

Conclusions:

I. No bottle is bad.

II. All good are bottle.
1. All good are bad.

Options :

1. # Only conclusion II follows
2. % Neither conclusion follows
3. % Only conclusion I follows

4. % Both conclusions I and III follows

Question Number : 63 Question Id : 54062615154 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T feu U Uy & 8 U 3R IF 918 31 HUHI IR YR & 56y 3T T4 § 1 3T T H2= & 981 aM, 918 S8 Qg J1d 9
@rmﬁmﬁﬂﬁwﬁuﬁfeﬁ?ﬁﬂﬁﬁﬁﬁﬁ%mwﬁqﬁﬁwﬁ faQ T HY & SMYR R gfaaed g

HY:
1. g4t Siaq, 33t 8
1. ®I Hf T, Siaa T8 5

ey

1. IS 4t i, g8 T B
1. g+ 3r3t, Siaa g
HI.'H'J—TT&@,@%l

Options :

1. % had (sHY [1 SFIR0I dal §

2. % iz Ht Fpy SR g ST §
3. ¢ Had sy [ SaR Hd1 |

4. % Gl FSHY 1 T 1M1 SFTIRUT % §

Question Number : 64 Question Id : 54062615155 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

In the following question, four number pairs are given. The number on left side of (—) is related to the number of the right side of (—) with some
Logic/Rule/Relation. Three are similar on basis of same Logic/Rule/Relation. Select the odd one out from the given alternatives.

Options :

1. ® 98 -109
2. % 137-148
3. % 126 -137
4, % 191 - 203

Question Number : 64 Question Id : 54062615155 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

R RuTT Uy, IR Jom g T mu ¥ () & IRt 3R & T T®| (1) & ol 3R & 7S e @ fpt adh um/ddy @ gefia g1 W
I TH qh/Mar/AEY & YR IR 90 ¢ | 73T T fawen & ¥ fawd &1 g

Options :

1. ®* 98 -109

2. % 137-148

3. % 126 - 137

4.+ 191 -203

Question Number : 65 Question Id : 54062615156 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A series is given with one term wrong. Select that wrong term from the given alternatives.

41, 84,42, 82, 45,78, 50, 72, 57, 65
Options :

1. ®= 84

2. % 42

3. % 82

4, ¥ 65



Question Number : 65 Question Id : 54062615156 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

UH 3 faar man ], for s ¥ U Ue Tad 8 | fou U faswedl # 9 39 7ad U &l giu|

41, 84,42, 82, 45,78, 50, 72, 57, 65
Options :

1. ®= 84

2. % 42

3. % 82

4, ¥ 65

Question Number : 66 Question Id : 54062615157 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
By interchanging the given two signs and numbers which of the following equation will be correct?

+and —; 6 and 3
Options :

. ¥ 4+3+-6%x2-7==-2
2.9 4+8-9x3+6=14
3.%2+3%x6+9-7=6
4, % 2x3+6+5-7=-1

Question Number : 66 Question Id : 54062615157 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

{51 ) gl qur < Temaf &t 3oy H§ IR sea W, Fufoiad 7 @ o a1 9Hteur gt 81 sem

+dYT—; 6 dUT3
Options :
. ¥ 4+3+-6%x2-7==-2



2.¥4+8-9x3+6=14
3.82+3x6+9-7=6
4. % 2x3+6+5-7=-1

Question Number : 67 Question Id : 54062615158 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If90D5M2=44and6 M 85D 17=38,then95D 19M 8§ =?
Options :

1. #* 42

2. % 40

3.% 44

4,9 48

Question Number : 67 Question Id : 54062615158 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

G0 DS5SM2=44TU6M 85D 17=388), A 95D 19M8 ="
Options :

1. #= 42

2. % 40

3. % 44

4. 9 48

Question Number : 68 Question Id : 54062615159 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Identify the diagram that best represents the relationship among the given classes.

Circle, Triangle, Figure
Options :



1. ¢

Q@D

Question Number : 68 Question Id : 54062615159 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

98 3R AT S i foU U ol & o9 & TdY &1 et g Har g |
qa, Prye, sngpfa

Options :

1. ¢



2. %
OO
3. % O
QD
4. %

Question Number : 69 Question Id : 54062615160 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
How many black are not red?

Black
|~

Options :
1. % 10
2. %5
3. % 4



4.9 6

Question Number : 69 Question Id : 54062615160 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ferer et STl Tet 82

Options :
1. %10
2. %5
3.% 4
4. ¥ 6

Question Number : 70 Question Id : 54062615161 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
How many even are ten?



Even

81 6| 10 3

/
0dd

-3

Ten

Options :
1. % 14
2. % 12
3. %10
4.v 16

Question Number : 70 Question Id : 54062615161 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

- g1, 5T 82

Options :
1. % 14
2. % 12
3.% 10



4.9 16

Question Number : 71 Question Id : 54062615162 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Based on the given venn diagram, which of the following statement(s) is/are correct?

I. Total number of bat are 21.
II. There are 7 balls which are not bat.

7

Tyre

Options :

1. % Only I

2. % Only II

3. % BothIand II
4. #® Neither I nor II

Question Number : 71 Question Id : 54062615162 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faQ T 37 3T & YR R, FafalRad & § o /8 Hu= 981 8732

. Scal B! Hd AT 21 B

11. 7 7fc THt §, o §eall ) g




8
/
TR

Options :

1. % FHadl
2. % Had Il
3. ¢ 1 AUTIL AT
4. % AGIIATRII

Question Number : 72 Question Id : 54062615163 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Based on the given venn diagram, which of the following statement(s) is/are incorrect?

I. Only words are 8.
II. Number of letters which are even, are 13.

Letter 11 N\ .

Options :
1. % Only 1



2. % Only II
3. ®* BothIand II
4. « Neither [ nor 11

Question Number : 72 Question Id : 54062615163 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f3T T 3 3@ & SMYR R, Fufered § 4 &9 91/ $y= 98! T8l /82

1. 9 8 Tec B
II. 98 AR SN IH g, DI T 13 8|

9 N8 N\
HER 11 X
Options :
1. % Had
2. % Had II
3. % [ QYT

4.« ATBIIATBII

Question Number : 73 Question Id : 54062615164 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which figure is similar to the given figures?



A A
A A

alsle]
000
>

Options :

o0
Q00
o] J

VA'A

3.¢¥ ;
4 % 'E

Question Number : 73 Question Id : 54062615164 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

B I fpfa < TS STt T 82
&) 3
Q9 AA
oo F Y
Options :
o0
Q00
o

1. %



VA'A

2. %

3.¢

@ <

Question Number : 74 Question Id : 54062615165 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the odd figure pair from the given alternatives.
Options :

O-
A
L@

\%
-



4.«

Question Number : 74 Question Id : 54062615165 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafefad vy o fau 7 fawedl o 9 favw siefa g o1 g

Options :

AV

-<

4. <




Question Number : 75 Question Id : 54062615166 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which answer figure will complete the pattern in the question figure?

CIRRN =
> | »

?

Th|TT| ==

Options :
s
«
1. %
<«
«
2. %
Yy
3.¢
>
>
4, %

Question Number : 75 Question Id : 54062615166 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



DI I IR MBI UY MBI P UfeRed DI TR B2

3R
> | »

1 =

Options :
B
<

1. #
<
«

2. %

vy

3. ¢
«
>

4, %

Question Number : 76 Question Id : 54062615167 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the figure which can be placed at the sign of question mark (?) from the given alternatives.



9‘&)6‘3»}

Options :

3.¢

"
5
" 3
ux

Question Number : 76 Question Id : 54062615167 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafaRad vy ¥ feu T fosmedl O 9 Uy g (2) & RIMF R 3 arelt 3HTdhid &1 gl

2 |12 |1

Options :




Has
L
s
L

Question Number : 77 Question Id : 54062615168 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
After folding the given paper, what will come opposite to 7’ and ‘8’ respectively?

8
B|C
H| 7
4
Options :
1. % B,4
2.¥ B, H

3.% 1B



4.% 4B

Question Number : 77 Question Id : 54062615168 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fSU T HITS Bl AIGH o TYTd, HH: <7° TUT *8° & [AuRId 3T ST

B|C
H| 7

Options :
1. * B, 4
2.¥ B, H
3.% H,B
4. % 4B

Question Number : 78 Question Id : 54062615169 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Two positions of a dice are given below. What will come opposite to face containing ‘*’ on it?

2> >
QRN

2. %R
3. % K



4.% @

Question Number : 78 Question Id : 54062615169 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T U @ QY STRITE SRR TR |+ ard s o (qURId o ST

® &

3. % K
4. % @

Question Number : 79 Question Id : 54062615170 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If a mirror is placed on the line AB, then which of the answer figures is the right image of the given figure?

A

A2
£

Options :




Q_/ISI
i

2.¢

FAFANE NN

SE

Question Number : 79 Question Id : 54062615170 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e T U0 BT AB AT TR AT ST, & 718 IR b faat H F HiH At 31epfal Uy 3nmepfal o1 wet ufafea grfe

|

Options :

o
Q_/ISI
F




FAFANE NN

3. %

SE

Question Number : 80 Question Id : 54062615171 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A piece of paper is folded and punched as shown below in the question figures. From the given answer figures, indicate how it will appear when
opened?

ATIERETEEEREREREE, S UEEEEEE SRR

=

Options :

Do oY
LADL A
A
|« [Doog




Question Number : 80 Question Id : 54062615171 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T & Ty SH Tl | fCETT SFAR HITS & AR wa- aul Wi & a6 98 [y SR SHTH I ol [G@Ts g

ATEEETEEEEEREREE, S UEEEESEEEE IR,

=
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Group Number :

Group Id :

Group Maximum Duration :
Group Minimum Duration :
Show Attended Group? :
Edit Attended Group? :
Break time :

Group Marks :

Is this Group for Examiner? :

Section Id :

Section Number :
Section type :
Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :

Section Marks :

Enable Mark as Answered Mark for Review and Clear Response :

Sub-Section Number :
Sub-Section Id :
Question Shuffling Allowed :

Question Number : 81 Question Id : 54062615172 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Arithmetic Abilityl

5
540626538
0

0

No

No

0

20

No

Arithmetic Abilityl

540626712
1

Online
Mandatory
20

20

20

Yes

1
540626852
Yes



What is the value of — 7

1

v Jim

3
Options :
1
1. % 7
1
) % 3
3
3.¥ 1
-
4.8 3

Question Number : 81 Question Id : 54062615172 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

1
— & AT FT 87

1

g o

3
Options :
1
1. # 1



-1 |

3.¢

i | =1

Question Number : 82 Question Id : 54062615173 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If (2.07 + 0.07)2 —A=4x2.07 % 0.07, then what is the value of A?
Options :

1. % 2

2. % 45796

3.4

4. % 3275

Question Number : 82 Question Id : 54062615173 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

i (2.07 +0.07)2 — A =4 x 2.07 x 0.07 §, A A BT HH FT 82
Options :

1. % 2

2. % 45796

3.¥4

4. % 3275

Question Number : 83 Question Id : 54062615174 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



If A 144
289 A

Options :

1. % 187

2.9 204

3. % 228

4. % 216

, then what is the value of A?

Question Number : 83 Question Id : 54062615174 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
afy A _144 % Gt p &1 = w82

280 A
Options :
1. % 187
2.9 204
3. % 228
4. % 216

Question Number : 84 Question Id : 54062615175 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

P Tk T ( 5 2 4 _
FA=|--—+4+-"—-—_—_| and B=| —— —+ ——— |, thenwhatis the value of A +B?
(3" "% & 9 18" 5 10
Options :
1. # 21
2. % 12
3.9

4. % 18



Question Number : 84 Question Id : 54062615175 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
(1 1

3 4
Options :

1. % 21

2. % 12
3.9

4. % 18

§2 \9 18 35 10

1}HirrB:r_—iq-g—i]?h‘Gﬁﬁﬁﬁﬁm@ﬂ@ﬁwmaﬁqﬁﬂquﬁmﬁ?

2
+__
5

Question Number : 85 Question Id : 54062615176 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1
What smallest fraction should be subtracted from sum of 21_3'__2_ 1Z.2= and ]1— to make the result a whole number?

5 ip 73
12° 37§ 15 ;.

Options :
73
1% 30

17
5 % 30

23

4 % 30



Question Number : 85 Question Id : 54062615176 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
31_33_25_12_33H&ﬂ11 & S5 7§ S Ga9 oSlel e gerr S aifd aRenA v qoT JEr 617
4 12° 3 5 15 2
Options :
73
1. % 30

17
30

23

Question Number : 86 Question Id : 54062615177 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Marked price of an article is 35 percent more than the cost price. If 20 percent discount is given then what is the profit percentage?
Options :

1. % 12

2.% 10

3.% 6

4. ¥ 8

Question Number : 86 Question Id : 54062615177 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

T I $1 3ifohd Jod ISP Hd Jed W 35 U= S1fe g1 A 20 Tia=d ge < o o ard fa=rd &1 g2
Options :

1. %= 12

2. %10

3.% 6

4. ¥ 8

Question Number : 87 Question Id : 54062615178 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Two successive discounts of 12.5 percent and 20 percent are given. What is the net discount?
Options :

1. % 325

2. % 275

3.9 30

4. % 25

Question Number : 87 Question Id : 54062615178 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

12.5 TR T 20 UA=Td &1 &1 Shi® Fe &l T § | Fad ge aang?
Options :

1. % 325

2. % 275

3.9 30

4. % 25

Question Number : 88 Question Id : 54062615179 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Average of 10 consecutive natural numbers is 27.5. What is the average of first 5 numbers?



Options :
1. ¥ 25
2. % 255
3. % 245
4. % 26

Question Number : 88 Question Id : 54062615179 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

10 SHHITA U e TS 1 3TRId 27.5 8 | TG 5 TeAT3T BT ST o 82
Options :

1.9 25

2. % 255

3. % 245

4. % 26

Question Number : 89 Question Id : 54062615180 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If a number E is 30 percent less than another number F and F is 40 percent more than 300, then what is the value of E?
Options :

1. ¥ 294

2. % 295

3. % 296

4. % 298

Question Number : 89 Question Id : 54062615180 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g T TWRSAT E, QORI WA F ¥ 30 U= &H § TUT F 300 F 40 UTI=R1Y 316 &, O E &1 H1H o1 82
Options :

1. ¥ 294



2. % 295
3. % 296
4. % 208

Question Number : 90 Question Id : 54062615181 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

350 litres of a mixture contains 80 percent milk and remaining water. What more quantity of water must be added to the mixture to make the
quantity of water as 30 percent in the resulting mixture?

Options :

1. ¥ 50 litres
2. % 200 litres
3. # 150 litres
4. % 125 litres

Question Number : 90 Question Id : 54062615181 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

350 TR & T Heor & 80 UfA=ra g a1 2 o7 & | aRomet firsor & Sia &t 1 @Y 30 Tiawrd 9 & fore fyson § ord ot 3R farat
AT ST ST A e?

Options :

1. ¥ 50 dflex

2. % 200 offex

3. % 150 Wic

4. % 1257eR

Question Number : 91 Question Id : 54062615182 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is correct?



I. If A percent of 284 = 35.5, the value of A = 12.5.
II. If A is 20 percent more than B, then B is 25 percent less than A.

Options :

1. % Only I

2. % Only II

3. % Both I andII
4. # Neither I nor II

Question Number : 91 Question Id : 54062615182 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fofifad 7 3 s ad 82

1. OfE 284 BT A UfRIA=3558, AA=125%8|
1L TfE A, B Y 20 Ufomrd s 8, A B, A J 25 Ufad HH g |

Options :

1.¥ Hadl

2. % HAd Il

3. % [ QU Gl
4. % qEIIATE I

Question Number : 92 Question Id : 54062615183 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A is 10 percent more than B. B is 15 percent more than C. C is 12.5 percent more than D. If D is 2400, then what is the value of A?
Options :

1. % 3264.5

2. % 3186.5

3. % 3715.5

4.9 34155

Question Number : 92 Question Id : 54062615183 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A, B 10 Ufa=rd o1 g1 B, ¢ ¥ 15 Ufa=id S g1 ¢, D 12.5 Ufa=id 31 81 3E D, 2400 B, T A BT A 187
Options :

1. % 3264.5

2. % 3186.5

3. % 3715.5

4. ¥ 34155

Question Number : 93 Question Id : 54062615184 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Selling price of an article is Rs. 2000. If profit is Rs. 200, then what is the profit percentage?
Options :

1. ® 125

2.% 10

3.¥ 11.11

4. % 15

Question Number : 93 Question Id : 54062615184 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS g BT fa8 Tead 2000 TOU g1 TfG ATH 200 39T 8, A AT Tf=Td &1 87
Options :

1. # 125

2. %10

3.9 11.11

4. % 15

Question Number : 94 Question Id : 54062615185 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Selling price of an article is 1.5 times of cost price. What is the profit percentage?
Options :

1. % 250

2. % 100

3. % 150

4.9 50

Question Number : 94 Question Id : 54062615185 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

UH a¥] &1 9 Yed, Hd Hed &1 1.5 0N & | AT Ufa=rd a1 82
Options :

1. % 250

2. % 100

3. % 150

4.9 50

Question Number : 95 Question Id : 54062615186 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A sold an article to B at 20 percent profit. B sold the same article to C at 14.28 percent loss. If C purchased it at Rs. 1800, then what is the cost
for A?

Options :
1. # 1850
2. % 1550
3.9 1750
4. % 1650

Question Number : 95 Question Id : 54062615186 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A ¥ T a&] B &1 20 UTA=Id a1H TR &=t | B A 3! a% DI C DI 14.28 U B g1 IR o011 TG ¢ 7 3 1800 3T BT VRIGT Al A BT HY



A HG?
Options :

1. * 1850
2. % 1550
3.9 1750
4. * 1650

Question Number : 96 Question Id : 54062615187 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

An article is sold for 20 percent profit. If the selling price and cost price both are increased by Rs. 100, then the profit is 16.66 percent. What is
the initial selling price?

Options :
1. ¥ 600
2. % 500
3. % 700
4. % 650

Question Number : 96 Question Id : 54062615187 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP I P 20 YFA=Id A R o<1 7471 Tfe fasha Jed auT 550 Jed Sl &1 100 TUU J Tl S, a1 AT 16.66 UTIRId 81 ST § | IR
CERR R,

Options :

1. ¢ 600

2. % 500

3. % 700

4. % 650

Question Number : 97 Question Id : 54062615188 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



In what ratio sugar of Rs. 40 per kg should be mixed with sugar of Rs. 48 per kg so that the mixture is worth Rs. 42 per kg?

Options :
1. % 2:1
2.9 3:1
3.%5:1
4. % 4:3

Question Number : 97 Question Id : 54062615188 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

40 T3 Ufd fob U1, arelt =i bl 48 ¥U Ul o311, arefl =i+t & w1y forg srqurd & e Se arfes fBreor &1 ge 42 300 ufd {301 g1
i[d?

Options :

1. % 2:
2.9 3
3.% 5
4. % 4.

W = = =

Question Number : 98 Question Id : 54062615189 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Rs. 24000 is divided among E, F and G. E’s share and F’s share are in the ratio of 4 : 3. F’s share and G’s share are in the ratio of 3 : 5. How
much amount will F receive?

Options :

1. ® Rs. 4000
2. % Rs. 8000
3. # Rs. 10000
4. ¥ Rs. 6000

Question Number : 98 Question Id : 54062615189 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



24000 ¥YA DI E, F AU G B fAUTRId fHa1 Sa1 81 E T G GUT F &1 5®1 4 2 3 & S[IUTd 8| F 1 g% 041 G &1 G813 2 5 & 3gu1d
A8 F DI fooat i et

Options :

1. % 4000 3T
2. % 8000 TYY
3. % 10000 3T
4. ¥ 6000 3T

Question Number : 99 Question Id : 54062615190 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The ratio of two liquids B1 and B2 in a container is 3 : 2. When 10 litres of mixture is removed from the container and is replaced with B2, the
ratio of B1 and B2 becomes 3 : 5. How many litres of B1 was in the container initially?

Options :

1. # 32 litres
2. ¥ 16 litres
3. % 48 litres
4. % 64 litres

Question Number : 99 Question Id : 54062615190 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP He-R B ¢l aval Uerd Bl a1 B2 &1 3T 3 : 2 8| 919 10 Tex & 901 1 dheR 4 AT faan Sirar 8 9u1 39 B2 § 95d faar Sl
g, I B1 YT B2 HT 3T 3 : 5 B O & | L& A dheR | fha- dlex Bl U
Options :

1. % 327X
2. ¥ 16T
3. % 48 AR
4. % 64 TR

Question Number : 100 Question Id : 54062615191 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Rs. 6000 are invested for 3 years at simple interest. If rate of interest is 8 percent per annum, then what is the total value of interest?
Options :

1. % 1660

2. % 1520

3. % 1440

4. % 1600

Question Number : 100 Question Id : 54062615191 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

6000 ST DI 3 TN P ToTT AR ATl TR =T fooaqm 71 5 | Af S7eT 1 &R 8 Ufer=Td il a9 &, Jf &1 &1 o T+ &1 62

Options :
1. # 1660
2. % 1520
3.9 1440
4. % 1600

Arithmetic Ability2
Group Number : 6
Group Id : 540626539
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20

Is this Group for Examiner? : No



Arithmetic Ability2

Section Id : 540626713
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 540626853
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 54062615192 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Rs. 6400 are invested for 2 years at compound interest (compounding annually). If rate of interest is 15 percent per annum, then what is the total
interest of 2 years?

Options :
1. % 2462
2. % 1862
3. ¥ 2064
4. % 2236

Question Number : 101 Question Id : 54062615192 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

%Fgaﬁzaﬁ$mm@mmﬁ$mwﬁémmw%| IS SIS $1 &R 15 Ufa=Id Ufa a8 g, df 2 99 &1 e Tl
?

Options :
1. % 2462
2. % 1862



3. ¥ 2064
4. % 2236

Question Number : 102 Question Id : 54062615193 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The compound interest (compounding annually) and simple interest for 2 years is Rs. 1935 and Rs. 1800 respectively. What is the principal?
Options :

1. ¥ 6000

2. % 5000

3. ¥ 7000

4. % 4000

Question Number : 102 Question Id : 54062615193 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2 TS P Tehgf TS (AT TS TUT FTYRUT SIS HHRT: 1935 FUY TUT 1800 U g | e o1 82
Options :

1. ¥ 6000

2. % 5000

3. % 7000

4. % 4000

Question Number : 103 Question Id : 54062615194 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Deepak covers 2/3 part of the total distance by bus and the remaining 30 km by car. What is the total distance of his journey?
Options :

1. # 30 km

2. % 45km

3. % 60 km

4.9 90 km



Question Number : 103 Question Id : 54062615194 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

0% Ho g BT 2/3 U T GRT TUT W 30 {6 . SR GRI T HaAT & | STD! A BT Hd gul [l 82
Options :

1. % 30 fob Tt

2. % 45 fp 1.

3. % 60 fob .

4. 90 fop 4.

Question Number : 104 Question Id : 54062615195 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

P and R are at a distance of 296 km from each other at 7:45 a.m. After 15 minutes, P starts moving towards R at the speed of 32 km/hr. At 8:30
a.m. R starts moving towards P at the speed of 8 km/hr. At what time will they meet?

Options :

1. ¥ 3:30 pm
2. % 4:20 pm
3. % 2:45 pm
4. % 4:50 pm

Question Number : 104 Question Id : 54062615195 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

P TUTR 7:45 TaTg W U G ¥ 296 [ 1. ® g W B 15 e ugrd p, 32 f i /Aer &1 1fa ¥ R $T 3R I SIRY dRaT g1 8:30 Ydlg
IR R, 8 oo /. /&ieT & 71 T p 1 SR I 3RY el ¢ | 98 fb g firii

Options :

1. ¥ 3:30 AWRTa
2. % 4:20 AWRMg
3. % 2:45 JWTg
4, % 4:50 AWMq



Question Number : 105 Question Id : 54062615196 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

64 Poles are standing in a straight line such that distance between any two consecutive poles is same. A man takes 12 minutes to reach from first
pole to 21st pole. How much more time will he take to reach the 36th pole?

Options :

1. ¥ 9 minutes
2. ¥ 12 minutes
3. # 6 minutes

4. % 10 minutes

Question Number : 105 Question Id : 54062615196 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

64 T T el Ui o S8 THR W & b forddl 4t < sprmTa Wil & Heg o gl 99 3| T SAfadd Ugdl @ 21 d @ b Uga o
12 fiFe AaT 81 36 d @™ d% UgaH H a8 a1 w9 iR amm?

Options :

1. ¢ 9 fie

2. % 12 fiFe

3. % ¢ foFe

4. % 10 e

Question Number : 106 Question Id : 54062615197 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If 14 men can complete a work in 140 days, then 28 men will complete 25 percent of the same work in how many days?
Options :

1. % 17.5 days

2. # 35 days

3. ® 25 days

4. % 8.75 days



Question Number : 106 Question Id : 54062615197 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IS 14 789 TP B B 140 T B R HR THhd €, O 28 T I B &7 25 Ufawrd fha= i & 1w
Options :

1.v 175 f&A

2. % 35fcH

3. % 2513

4. % 87573

Question Number : 107 Question Id : 54062615198 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Working 8 hours per day, R1 can complete a work in 24 days. Working 20 hours per day, R2 can complete the same work in 16 days. Working 12
hours per day, in how many days both R1 and R2 together can complete the same work?

Options :

1. # 18 days
2. % 17 days
3. % 12 days
4. ¥ 10 days

Question Number : 107 Question Id : 54062615198 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

UfAfe 8 € B b, R1 TP B B 24 &7 T TR R Tohal 5 | TlAfe 20 B¢ B HRap, R2 I &1 Bl 16 7 T W R IHha1 8
ufafem 12 9¢ &1 #b, R1 AUTR2 GF1 R 34 &1 &1 foraq 37 & 1 r I 82

Options :

1. % 1gfem
2. % 17feq
3. % 12feq
4. 10f&A




Question Number : 108 Question Id : 54062615199 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Two pipes A and B alone can fill an empty tank in 30 hours and 45 hours respectively. Pipe C alone can empty that completely filled tank in 36
hours. Firstly both pipes A and B are opened and after 7 hours pipe C is also opened. In how much time tank will be completely filled?

Options :

1. # 30 hours
2. % 32 hours
3. % 29 hours
4. % 35 hours

Question Number : 108 Question Id : 54062615199 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Gl TS A TUT B 3fohdl U Wil Sl Bl HHRT: 30 B TUT45 S H R Ihd ¢ | UIY C bl 39 AUl &7 F 4} §3 Thl Bl 36 6 T Wra!
TR FHdl ¢ | T UG alHl UIsU A TYUT B $I [iel 71 a7 7 €S 916 UIsy C Dt Wia 71| <ot fora w0 & Ig0f &0 F R ST
Options :

1. % 304c

2. % 327%¢

3. ¢ 20%¢

4, % 359°¢

Question Number : 109 Question Id : 54062615200 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If the diameter of a sphere is 28 cm, then what is the total surface area of the sphere?
Options :

1. % 2096 cm?

2. % 2248 cm?

3. v 2464 cm?



4, % 2872 cm?

Question Number : 109 Question Id : 54062615200 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e T Tl &1 3 28 .41, B, 6 e &1 & YSIT & 1 82
Options :

1. % 2096 9.2

2. % 2248 QAT 2

3. ¥ 2464 1 2

4. % 2872 QA1 2

Question Number : 110 Question Id : 54062615201 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If the ratio of the volumes of two cylinders is 6 : 1 and the ratio of their heights is 1 : 6, then what is the ratio of their radii?
Options :

1.%2:5
2.%1:6
3.96: 1
4. % 5:2

Question Number : 110 Question Id : 54062615201 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g & 1 o ST BT AT 6 2 1 § AU ITH! S Al 1 AT 1 2 6 8, Al Ib! Aoa1sil HT 3UTd 1 82

Options :

1.%2:5

2.%1:6
1
2

3.¥ 6 ;
4, % 5.



Question Number : 111 Question Id : 54062615202 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A chord of length 42 cm is drawn in a circle having diameter 58 cm. What is the minimum distance of other parallel chord of length 40 cm in the
same circle from 42 cm long chord?

Options :
1. % 3cm
2. % 4cm
3. % 2cm

4. % 1 cm

Question Number : 111 Question Id : 54062615202 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 58 .. T aTa g & 42 .. TETE &1 T Siia Wil offdll ¢ | S g H 42 .1, TaTs arell Siidr ¥ U 3+ GHMIAR ST foree!
TS 40 .. B, B YAaH g2 farait 82

Options :

1. % 339
2. % 49
3. % 2
4.¢ 1 QA

Question Number : 112 Question Id : 54062615203 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The length of the side of a cube is 2.8 cm. What is the volume of the largest sphere that can be taken out of the cube?
Options :

1. % 115 cm?

2. % 1.15cm’

3. ¥ 11.50 cm®

4. % 11.74 cm?



Question Number : 112 Question Id : 54062615203 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP T D1 Yol B aaTs 2.8 A, 81 T J IR BT o ThA aTal Jad §8 T BT AT T 82
Options :

[. % 1159H3

2. % 11533
3.9 11.50 Q.43
4. % 11749413

Question Number : 113 Question Id : 54062615204 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The table given below shows the number of males and females in 5 states.

States | Males | Females
A 120 340
B 440 620
C 320 140
D 200 120
E 30 160

What is the sum of number of males in B and number of females in E?
Options :
1. #* 500
2. ¥ 600
3. % 620
4. % 580

Question Number : 113 Question Id : 54062615204 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

T <t eft anfereet 5 ot W ey qur afiganstt ot @e o it g

T | v | #fgamw
A 120 340
B 440 620
C 320 140
D 200 120
E 80 160

B T Ul &1 T aUT E H Aiganat o e &1 anT 1 82
Options :
1. % 500
2. v 600
3. % 620
4. % 580

Question Number : 114 Question Id : 54062615205 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The table given below shows the number of balls bowled and number of wickets taken by a bowler in 5 matches.

Niichas Number of | Number of
wickets taken | balls bowled
M1 8 31
Me 4 62
M 6 48
uaki 12 12
M35 10 10




Bowling Economy = Number of wickets taken/Number of balls bowled

Which of the following statement(s) is/are correct?
I. ‘M5 > M3’ is not correct about the bowling economy
II. Wickets taken in M1 are 66.66 percent of the wickets taken in M4

Options :

1. % Only I

2.% Only II

3. % BothIand II
4. % Neither I nor II

Question Number : 114 Question Id : 54062615205 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I & it arfereT 5 AR § U Nears gRy ot Wit fade! ot T Sreft i Aet ot T Y ewid B |

S o I el | =rer A Sy
$r gEar $r ge=aT

M1 8 34

M2 4 62

M3 6 48

M4 12 12

M5 10 40

ST SebI-THI = ot 7T fachel bt AT/ STedt Tl T bt e

Proffad & 9 o 918 $uT g8l /87

1. ST S TH! & Ty H M5 > M3 T8I T8l g

1. M1 ® & Tt fadbe, M4 | ot i faspel & 66.66 Ufa<d &
Options :

. % Had |

2. ¢ HAA I



3. % 1dUT I Sl
4. % qTEIIATRIII

Question Number : 115 Question Id : 54062615206 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The pie chart given below shows the number of employees in 5 offices. Number of employees in a particular office are shown in terms a degrees
with respect to the total number of employees in these 5 offices.

Which of the following statement(s) is/are correct?

I. Number of employees in P are 33.33 percent more than the number of employees in Q

I1. If number of employees in P are 14400, then total number of employees in these 5 offices are 72000
III. Number of employees in R are 30 percent of the total number of employees in these 5 offices

Options :

1. # Tand III

2. % Il and III
3. % Only I
4.9 1,11 and III

Question Number : 115 Question Id : 54062615206 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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1. P H HHARA! &t T=AT, Q H SHATRAY &) T T 33.33 Ufa=d 3ifdieh §
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Options :

1. % [ QYT

2. % 11 QUTIII
3. % Had I
4. 1,11 YT III

Question Number : 116 Question Id : 54062615207 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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fasha Oed = T e + oY a1y Ufa=Id = [oTH/fasha ged] x 100

fFraffad § @ o 918 Sy 98 /20

I. A TYUT B &1 A 4 Jed, F & 9 Jed ¥ 29.03 Ufa<d FH |

I1. 9 A TR HHTIT T4 d1H 10 UFA<Td 8 TUT B &1 53 eI 19600 B, A1 A HT fashd Jed 12330 B
Options :

1. Had I
2. % Had Il
3. % [ QYT gHl
4. % GBI

Question Number : 116 Question Id : 54062615207 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The pie chart given below shows the cost price of 7 articles. Cost price of a particular article is shown as a percentage of total cost price of these
7 articles.



Selling price = Cost price + Profit Profit percent = [Profit/Cost price] x 100

Which of the following statement(s) is/are correct?
I. Total cost price of A and B is 29.03 percent less than the cost price of F.
I1. If profit earned on A is 10 percent and the cost price of B is 19600, then the selling price of A is 12330.

Options :

1. ¥ Only I

2. % Only II

3. % Both I andII
4. ¥ Neither I nor II

Question Number : 117 Question Id : 54062615208 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The line chart given below shows the number of cars in 6 shops.



1080

What is the difference between the total number of cars in A and B and total number of cars in E and C?
Options :

1. #® 470

2. % 1020

3.4 950

4. % 1070

Question Number : 117 Question Id : 54062615208 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T feam mar ¥ o 6 gl H HRI ) WS Bl G/ |




1080

A TYTB A BRI &I Ho TBAT IYTE TUTC H BRI B! el T & A 7 3R ]2
Options :
1. % 470
2. % 1020
3.v 950
4. % 1070

Question Number : 118 Question Id : 54062615209 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The line chart given below shows the number of candidates in 6 exams. Number of candidates in a particular exam are shown as a percentage of
total number of candidates in these 6 exams.



24%

El E2 E3 E4 ES E6

Which of the following statement(s) is/are correct?
I. Number of candidates in E3 are 75 percent less than the number of candidates in ES5.
II. If number of candidates in E2 are 2560, then the number of candidates in E4 are 3840.

Options :

l. % Only I

2. % Only II

3. % BothIand II
4. #® Neither I nor II

Question Number : 118 Question Id : 54062615209 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I fear o R fo 6 ufvemant & sranffal &) T o gxiiar 8 | T fafiy udten & snarffal &) e & 37 6 udtenaii # snanffay
Hd WS & YfaRd & ©0 § S T B



24%

El E2 E3 E4 ES E6

Profifed & ¥ 5 91/ 3 98 278

1. E3 § snanffal ot e, ks § siaffal ot Ten § 75 ufawd w9 3|
1. fe B2 H snaffdl &t W= 2560 8, @1 B4 H S1amiial ot T3 3840 B
Options :

1. % Had 1

2. % HAdII

3. ¢ 1 AU Gl

4. % qEIIATR I

Question Number : 119 Question Id : 54062615210 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The line chart given below shows the quantity of milk sold by seven persons in two states.



—+-S] —e-S82

P1 — Average quantity of milk per person in S1

P2 — Average quantity of milk per person in S2

P3 — Difference between the quantity of milk sold by A in S1 and C in S2
What is the value of P1 + P2 + P3?

Options :
1. # 368.43
2. % 381
3.¥ 370
4. % 34371

Question Number : 119 Question Id : 54062615210 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

= e o e o & It T ufdadl gRT o9 W gy @) AT ) gRIfdT ]



—+—5] e-S2

P1 - S1 H ufd Safad gU &1 ST 9

P2 — 2 H Ufd afad g &t Sid AE

P3-S2H CAUTSI T A GRI S U GY DI AT I G 3R
P1 + P2 + P3 BT HF T 82

Options :

1. % 368.43

2. % 38]

3.¢ 370

4. % 34371

Question Number : 120 Question Id : 54062615211 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The line chart given below shows the number of boys and girls in 6 schools.



300 180

P Q R S {5 U

—#-Boys —®Gitls

Which of the following statement(s) is/are correct?

I. Ratio of number of boys in S to the number of girls in P is 15 : 8.

II. Number of girls in U are 66.66 percent more than the number of boys in R
II1. Average number of boys per school is 397.

Options :

1. % II and 111
2. % Jand III

3. % 111

4. % 1 11 and 111

Question Number : 120 Question Id : 54062615211 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I fear mar Y o 6 faererdl § ded aut dsfeal &) e & el g |




—a-OTS& —e—oISTRAT

frafeEd 3 A 19 918 Hu= 98 8780

L ST ASHI &I TS HTP & AS(Hl I BT 15 : 8 BT U g

1L U H Jsfpal ol T3, R H d5) ol T 66.66 Ufawrd 31 B

111 Ufd faerera Il ot 3igd Te 397 ]
Options :

1. % I1dUTII

2. % 1dYT 11

3. % 111

4. 1, 114N I
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Group Id :

Group Maximum Duration :
Group Minimum Duration :
Show Attended Group? :
Edit Attended Group? :
Break time :

Group Marks :

General Hindil

7
540626540
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0
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Is this Group for Examiner? : No

General Hindil
Section Id : 540626714
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 20
Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 540626854
Question Shuffling Allowed : Yes

Question Number : 121 Question Id : 54062615212 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
{3 1T Ysg 1 THN J1d HifSTT|

GRTET

Options :

1. % qgdife a™
2. % gg gAY

3. % 3{gUYId JaN
4.« T ATy

Question Number : 121 Question Id : 54062615212 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T 7T e &1 IHN J1d HifT|




GRTGT

Options :

|. % S gdlfe Iury
2. % gg gu™g

3. % 3{gUYId JaN
4. ¢ fg 9a™

Question Number : 122 Question Id : 54062615213 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f&T 7T ec; BT UL 1 HifoU|

WRdlD
Options :
1. %1l
2.9 IR
3. % Al
4. % 3d

Question Number : 122 Question Id : 54062615213 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3T T4 X8 T SUNT 1 B |

WRdlDh
Options :
.= Ul
2. ¥ IR
3. % Al
4, % 3d




Question Number : 123 Question Id : 54062615214 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fou TTU WIeaf T e doH-dhad F1d BT
Options :

1. ¢ giducr-ufgar

2. % ¢RI-qH

3. % DK PER

4. % gifd-ara

Question Number : 123 Question Id : 54062615214 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3T 7T 3] BT el dH-dred JTd BT

Options :

1. ¢ Yfduer-ufgdr
2. % qRI-qH

3. % PHIWI-PBR
4. % grfq-arg-

Question Number : 124 Question Id : 54062615215 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fou ¢ aredl § SHaIS ARy Jd i |
WY S H g T W IET

Options :

1. % S
2. ¥ G
3. % IO
4. % TR




Question Number : 124 Question Id : 54062615215 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fou ¢ arel § SHaIS ARy Jd i
T &S H TR I W IET

Options :

1. % IS
2. ¥ G
3. % IO
4. % WX

Question Number : 125 Question Id : 54062615216 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faw 77U wrecf St Y J1d BT

7 + ®wed
Options :

1. ¢ fshes
2. % Adhcd
3. % [OdhcHh
4. % (AOd®

Question Number : 125 Question Id : 54062615216 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faq 7T 2reat 1 HfY 1 BT

: + dcd
Options :



1. ¢ fAshedh
2. % Adhew
3. % Odpds
4. % [AOdH

Question Number : 126 Question Id : 54062615217 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fT TTQ IRy BT 3fo9F-U< JTd HifoTT |

T 3t ofrg g |

Options :

1. % R[[dHdH

2. % JUIEIUD
3. ¢ PIAdHd

4. % fawmfeaius

Question Number : 126 Question Id : 54062615217 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3T 1T AT BT 3H-UG I DIl |

X 3t oS
Options :

1. % Rdddh
2. % AGIYD
3. ¥ PIAdHdh

4. % fqumfieaiys

Question Number : 127 Question Id : 54062615218 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



frafead # Q o9-91 Weq, fIS ol Teg 8T 32
Options :

1. % AdTS

2. % gHH

3. ¢ dig

4. % SR

Question Number : 127 Question Id : 54062615218 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafeied & d HIH-91 g I3 Weg 81 82
Options :

1. % HdlS

2. ® ghld

3.7 dlg

4. % §R

Question Number : 128 Question Id : 54062615219 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFrofeRad o 9§ HH-91 Wea 1 161 82
Options :

1. % YsTH

2. % TgcUc

3. % fererfare

4, ¢ QAR

Question Number : 128 Question Id : 54062615219 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fofefad 7 3 HIH-91 Wsg <=1 T8 &2



Options :

1. % YgH
2. % Tcyc
3. % fererfre
4. ¥ AR

Question Number : 129 Question Id : 54062615220 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3T 7T 31eg &1 faeH Yse F1d BT
B

Options :
1. ¥ Ycig
2. % Ty
3. % gy
4. % JMafy

Question Number : 129 Question Id : 54062615220 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3T T4 2reg &1 faeiie s I BT
gy

Options :
1. ¥ Uy
2. % ¥
3. % gy
4, % 3JMafy

Question Number : 130 Question Id : 54062615221 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

3T 7T T8 1 faed s F1d P
ded

Options :
1. % 9ddb
2. % Hd
3. % By
4. gl

Question Number : 130 Question Id : 54062615221 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3T 7T 31eg &1 faeH Yse F1d BT
ded

Options :
|. % Ydph
2. % gd
3. % By
4. g

Question Number : 131 Question Id : 54062615222 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U 7T Tsg &1 yAigar Wee F1d BT
PR

Options :
1. ¢ qrdl
2. % ol
3. % @l



4. % foc

Question Number : 131 Question Id : 54062615222 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U 7T Tsg BT UATgaT Weg 10 BT
PR

Options :
1. ¢ dial
2. % ol
3. % Pl
4. % foet

Question Number : 132 Question Id : 54062615223 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fau U wree} F 31 aclt 7 T B
Options :

1. * TgXdl

2. ¢ YHIMOIS

3. ® qredife

4. % Yool

Question Number : 132 Question Id : 54062615223 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fu 7TQ Trsal H 313G ac-! T g9 BT

Options :

1. % TRl
2. « JHIUG



3. % gl
4. % Uped

Question Number : 133 Question Id : 54062615224 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fu U wrec F 31 et 7 =TT HIfTe |
Options :

1. ¢ aRy

2. % faordt

3. % fafy

4. ® 3Uded

Question Number : 133 Question Id : 54062615224 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T T Sreg & o aclit 1 79 P
Options :

1. ¢ IRy

2. % foordt

3. % fafy

4. % JUded

Question Number : 134 Question Id : 54062615225 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f&T 1T Woc g 1 el Wsg i 1 BT

3{af : 3ra
Options :
1. % & Ygadr



Question Number : 134 Question Id : 54062615225 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f&T 1T Yo g b1 el Wsg i 1T BT

3af ; 3a-
Options :

1. % &l - ygddm
2. Tt ; &l
3. % Tl gl
4, % AT . 5

Question Number : 135 Question Id : 54062615226 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f3T 77T 2[eg T o1 Te! e T J1d HITOT|
RIaaRkitg

Options :

1. % TRR:BAd
2. ® gE:HTC

3. ¢ TR
4. % Q¥R

Question Number : 135 Question Id : 54062615226 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f&T 1T Toc g b1 el Wsg i 1T BT



Riya:ufkfid
Options :

1. % TRR:Wag
2. % HH:ATIGT

3. ¢ TRAGHLAS
4. % QAR

Question Number : 136 Question Id : 54062615227 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f3T 7T a1 & IUYe Teg &1 T B b Nad RIH B il BT
famm & fog enfifes T HIIDH A BIch 5 |

Options :

1. ® g&Hdl

2. % fafderar

3. ¢ JTAFHRA
4. % EPR

Question Number : 136 Question Id : 54062615227 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f3U 77U a6 T IUGE Teg BT 99 I Nad RIM DI el Do
faer & fog snfifes 1 SATIRIHAT BIch 5 |

Options :

1. * H&HI

2. % fafaeyd

3. ¢ JTAFHRA
4. % EPR




Question Number : 137 Question Id : 54062615228 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
31U o FHEl T 9 a6 | B I HRP 87
Options :

1. ¢ Y

2. % JUlalH

3. % gHJqIH

4. % 3ffYBOT

Question Number : 137 Question Id : 54062615228 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3D i1 Bl T U IR § DI A HRD 62
Options :

1. ¢ gaY

2. % Ul

3. % gHIgH

4. % 3ffHT

Question Number : 138 Question Id : 54062615229 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FafaRad o ¥ oF 91 UdhaeH 82
Options :

1. % 3 d9D

2. % B A pfaar

3. ¢ (U HIGHTYT

4. % 3G G

Question Number : 138 Question Id : 54062615229 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

fafafed 7 9 & 91 thae 82
Options :

1. % 3w AP

2. % HIF A pfaar

3. ¢ 3{UHT HIGHTST

4. % g o

Question Number : 139 Question Id : 54062615230 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Foffed B & o 1 Wifei Wsg T8l 82
Options :

1. ¥ RYC

2. % 3AY

3. % g9

4. % UMl

Question Number : 139 Question Id : 54062615230 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
o B @ B 91 Wifel Weg 781 52
Options :

1. ¥ RYC

2. % 3

3. % g3

4. % UMl

Question Number : 140 Question Id : 54062615231 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
“qg 3T I aT Dl Uga |
Options :

1. % Hfewy qdaH

2. % gl A

3. ¢ HHIH aaHH

4. % QIDITeTD JdHA

Question Number : 140 Question Id : 54062615231 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
“qg {11 NI AT Dl Ugd b |
Options :

1. % iy gofue

2. % Ul gHM

3. ¢ FHTH qdHH

» o (od
4. ® dlchIlclid ddHTA

General Hindi2

Group Number : 8

Group Id : 540626541
Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No



General Hindi2

Section Id : 540626715
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 16
Number of Questions to be attempted : 16

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 540626855
Question Shuffling Allowed : Yes

Question Number : 141 Question Id : 54062615232 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

G A= &1 &A1 ford giy &1 IaTexul 82
Options :

1. % FYrard® gia

2.« 3R® gha

3. % Mg gh

4. % SIRYARED g

Question Number : 141 Question Id : 54062615232 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

G SHIRG I &A1 o IR HT IST6R0 82
Options :

1. % Jura=rde gha

2. ¢ Y g

3. % g g

4. % SIRYARLESD g



Question Number : 142 Question Id : 54062615233 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

“offcl STae 3 DI U U BT IGTEUI 67
Options :

1. % guof

2. % 3ol

3. ¥ RAdAS

4. % FrASIYD

Question Number : 142 Question Id : 54062615233 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

“glfdl SR 8 DI Y U BT 3GV 87
Options :

1. % guf

2. % 3quf

3. ¢ Rard®

4. % JIAAYH

Question Number : 143 Question Id : 54062615234 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

“JH AN HGI SN IR 8" DI J & BT 3&T6R0I 57
Options :

1. = Uy

2. % 3dH

3. ¥ HYH

4. % 3AHY




Question Number : 143 Question Id : 54062615234 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

[ T I SfT 3@ B b1 Y Y=Y bl J&TeRUl 82
Options :

1. % gy

2. % 3TH

3. HYH

4. % 3

Question Number : 144 Question Id : 54062615235 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faferiRad aril B 9 Y aTed &1 99+ Diforg|
Options :

1. % b & [P o1u= TR A 1 Bis Uy el faa|
2. % e g fob SO TR Tl 1 Bl IR Tl 13Tl
3. Wa g [ MU TR U3l 1 Dls ST g fed|
4. % 3 TR U= Bl DI3 IR Ao 1601 W 5

Question Number : 144 Question Id : 54062615235 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
faferRad IRl B 9 Y aTer &1 o+ Diforu|
Options :

1. % M § [ o= TR U= &1 Bis Uy a1 fea|
2. % e g foh SO IR Tl B Pl IR T8l 16T
3. ¥ g g b 31U TR U1 T Dl IR a1 el
4. % 3O TR U1 1 1S IR LT a1 B B

Question Number : 145 Question Id : 54062615236 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

fafeiRad aredl # ¥ WRa 919 J1d Hifod |
Options :

1. ¢ fay TR 5 & forg ufafes s s 5|
2. % f3y ufafes samam o 8, o 98 W R
3. % gg SUTITH 3TfeY B §, oY a8 W R |
4. % fgy gfafeT T vl § IR W WA ¢ |

Question Number : 145 Question Id : 54062615236 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafad el 8 @ TRa aren 31d S|
Options :

1. ¢ fay Wy T8+ & fore ufafes o axrar g
2. % fay fafes samam o 8, ol 98 W R
3. # gg AT Ui Pl 5, oY 98 WRI G|
4. % fay yfafe samam $Rd1 § 3R W WA 5|

Question Number : 146 Question Id : 54062615237 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
faferRad arel o @ Mg arery 31d Sifor
Options :

1. % Ug Afdd bt 0T dgd Y=d Tl
2.+ Ug 98 fad § off Hft 98q 4ar Tl
3. % g b3l Y0 R §gd Y-Tar- Afad o
4. % ool I0Y IR g Al dgd Yd o

Question Number : 146 Question Id : 54062615237 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
fraferRed arerit & &g areRy 1 BTy
Options :

1. % Ug Afdd bt THT dgd Y=d Tl
2.+ Ug 98} fad § ol Hft 98q 4ar Tl
3. % g [h 3l Y0Y R §gd Y-TaT- Afad o
4. % ool I0Y IR g Al dgd Yd o

Question Number : 147 Question Id : 54062615238 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faU T a1 § Iuged favm forg &1 =994 Fifou|
ENINRER

Options :

1. ¢ guifR™
2. % 3faRTH

Question Number : 147 Question Id : 54062615238 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau ¢ a1 © Iuged form fug &1 o pifor |
ayi g1 gt ot

Options :

1. ¢ qUifaRH
2. % 3cfaRTH




Question Number : 148 Question Id : 54062615239 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau ¢ a1 © Iuged form fug &1 o pifor |

T GTH W1 6T |
Options :

1. % g9

2. % G

3. ¢ JYdidd

4. ® drdd

Question Number : 148 Question Id : 54062615239 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faU T a1 § Iuged favm forg &1 =994 Fifou|

1 I WG §
Options :

1. % g5l

2. % fGARE

3. ¢ JYdiddh

4, % lud

Question Number : 149 Question Id : 54062615240 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f&u e favm forgl # 9§ oy g 31d iferu
Options :

1.¥ .

2. %

b



3. % |

4. ® &

Question Number : 149 Question Id : 54062615240 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fau Tu farm fgt & @ o fug 1a v
Options :

1.¥ ..

2. %

3. %!

4. % £

Question Number : 150 Question Id : 54062615241 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fawafeaiys fug o1 IuaNT a1 § Pl fhar Jar g2
Options :

|. % RIS A H

2. % IR b YR H

3. % QIR h A H

4. T & URY qUT 3id gl |

Question Number : 150 Question Id : 54062615241 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fawrenfesiu® fug &1 Suai are & &gl (a1 oiTdl 57
Options :

1. % 91 & 3id H

2. % GIR & UR™ H

3. % qIRI & A H




4. ¥ 9199 & URY qUT 3id a1 #

Question Number : 151 Question Id : 54062615242 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafefad vy ), fou U IR fawedl & ¥, 39 fawen &1 997 & S fou U geTak & 31 ol Ya9% U § odad Rl g |
S HTd BT

Options :

1. ¢ it §IFT, HUC YUl AR Al

2. % TTCH HRAT
3. % A Ufad H

4. % T

Question Number : 151 Question Id : 54062615242 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy o, fiu U IR fawedl & 9, 39 faded o1 7o 3 ot f3T 70 geTer & i &1 a9y ¥U ¥ oJad HRal g |

ST HITd BT

Options :

1. ¢ it §IFT, HUC YU AR Al
2. % TTC HRAT

3. % AT Yidd H=AT

4. % SIQT S

Question Number : 152 Question Id : 54062615243 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafefad ve ), fou U IR fawedl & ¥, 39 fawen &1 997 & 51 fou U geTak & 31 ol Ya9% U J oJad Rl g |
e T H g1 €N




Options :

1. % TS O g1y

2.« GG &1 Y ISHI, SgT G BRIeT 3371 3R 8 981 Brael IS
3. % T HE DA

4. % w@rff g

Question Number : 152 Question Id : 54062615243 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad vy , fau U IR faweat & ¥, 39 fadmen &1 997 &3 57 fou U geTak & 31 ol Id9% U § odad Rl g |
St T H g1 e

Options :

1. % TS O T i

2. ¢ GHY BT ATH ISMI, Sigl Tt et 337138 81 a8l Bl SoH

3. % T | HIAT

4. % Trff g

Question Number : 153 Question Id : 54062615244 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraferiad we ), fou 0 oR fawedl & 9, 39 fawed &1 997 & S foU U geTark & 3 ol Ia9% U I oJad HRdl ¢ |

CINEIREINAREANE]

Options :

1. % T8 S usdrd

2. ¢ 9gd B BRI, od-dlAT HA]
3. % §1d Al

4. % 9167 3R WA AT T HIAT

Question Number : 153 Question Id : 54062615244 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

fraferiad we , fou 0 oR fawedl & 9, 39 fadmed &1 997 & 1 fou U geTark & 31 &l Ia9% U I oJad HRdl ¢ |

CINEIREINAREANE]

Options :

1. % T8 S ysdrd

2. ¢ 9gd B BRI, odl-dlA1 Bl
3. % §1d Al

4. % SIS 3R WA AT 3T HAT

Question Number : 154 Question Id : 54062615245 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad vy ), fau Tu IR faweat & ¥, 39 fawen &1 997 & S fou U geTak & 31 ol Id9% U § ogad Rl g |
YT Y B! SISt S

Options :

1. % ST BISDHR Yd BT U

2. % Y fHe

3. ¢ ST gU S{aTR &1 1Y IS
4. % Tl g3 a%] D1 $S U gl

Question Number : 154 Question Id : 54062615245 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad ve , fou 0 oR fawedl & 9, 39 fadmed &1 997 & 1 fou U geTark & 31 ol a9% U § oJad HRdl ¢ |
YT Y T TS g

Options :

1. % TS BISHR Yd BT U
2. % oY forer

3. ¥ 1A §U 3fA¥R &1 1Y SSHI




4. ® Al g3 I%g D1 $S UK gl

Question Number : 155 Question Id : 54062615246 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafefad vy ), fou U IR fawedl & ¥, 39 fawen &1 997 & S fou U geTak & 31 ol Ya9% U § odad Rl g |
TR P gal A e

Options :

1. % IRA & fw get 7 a1
2. ¢ AP X BT

3. % §gM a9

4. ® U I

Question Number : 155 Question Id : 54062615246 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy o, fiu U IR fawedl & 9, 39 faded o1 7o 3 ot f3T 70 geTer & i &1 a9y ¥U ¥ oJad HRal g |
TRA &1 gal 7 e

Options :

1. % TRA & fw get T oA

2. ¢ JIIYh T G

3. % §gMH M

4. % TSI G

Sub-Section Number : 2

Sub-Section Id : 540626856
Question Shuffling Allowed : Yes

Question Id : 54062615247 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (156 to 160)



frafafad meiw @) errgde ufeu iR 3T 7T Uy &1 IR i

Hs UGB eaY 3R IUMwEmesdg &1 H, e, HIP!, BIb!, T4, Hall, YRl 3R HUN Tdhel HId o | PR & # 3 HIa!, dd
Bl SUSl R $B Tfeord! Uad 811, 39 1 Udh IeTeRU & Ugad A9 ARSI 7, et 7awl, g, TTe- YW Fae! hydl 38 8 [HUr
YR 1 Uh T e Bud ¢ | I8 TH 3R THH ardraRul § 961 ¢ 9960d Y &F &1 HUd ¢ | HUN B Adl & o4 Ty 3] Bl
it gt Bl & 1 WRA H Had Hg Ul Uy I dTel &3 ToRTd, HeRTY, gRam, SR, Uslle, sfigveel, HHice 3R dffierg g I5e
T Agayul HUd g1 gHaT & YRd, S & Rigid Aafars o 9 e 8| 98 -8y Seel H STdd U ¥ ST ST § | HRd & U9 S[C
JATCH T UFH ST, 3rH, fogR, IS, iy Ue=T 3fR AUTad § | HRd, g1 & 919 &1 gORl 9ay 981 SdIe® o ¢ | I & g
TH T, SUSTS,, 31 dve &1 Q! g 3R I dUHH &1 Al gldl g [ S aTel I8 &5 Uil e, ITR-Yd HRd 3R
ST HRA § | HIh! ! o T Y Sl diarg AR Hd H ST ST § afdeie, Giwhe 3R HRed YR H ST S arelt dfiF
g focie 81 3 480 U ¥ fagR, IS4, IR UG, HERTY IR UfEH s H IS SN ¢ | FiTthel G871 ¥4 Y dfiarg, 7RIy $R
31Y o1 H TS Sffelt & | HeRTY | fodt sig TAM IR ST STl & |

Sub questions

Question Number : 156 Question Id : 54062615248 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
HERIY # I Ul U Bl g THM TR IR W1l 69
Options :

1. % T3

2. % U™

3.% 91

4. fad

Question Number : 157 Question Id : 54062615249 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

forgent et o forg et et fHg) Tard 394 Bl 82
Options :

1. % T

2. % 4

3. ¥ PUN

4. % HRCY



Question Number : 158 Question Id : 54062615250 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
SIC, B! d T fhg UHR &1 B 82
Options :

1. ¢ Tl BRI

2. % B B

3. % &l By

4. % WG By

Question Number : 159 Question Id : 54062615251 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
et 4= U Y for & & IS ot 82
Options :

1. % f9gR

2. ¢ AEArg

3. % Jor

4. % ITRUCK

Question Number : 160 Question Id : 54062615252 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SUYad TR T Iugad e T g
Options :

1. ¢ 64l B

2. % IACH o

3. % JdAIGH I

4. % TP &

Question Id : 54062615247 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension



Questions : No
Question Numbers : (156 to 160)

frafeiad Taiw @ ermyde ufgu 3R fau 7T usy &1 3w S|

Hs IUGfeadig 3R IuwrBieata &= §, S, HIh!, B!, T4, B, TarT 3R HUR Tdhal B ¢ | Her &l § A B, dd

B SUS 3R HS Alood! Uad BT, 39 b1 U Iaex0l & Agad g ARSI §, STg! HawT, 718, VA Ugd 9ad! Hadi 36 & [Hu™
HRA P Uh YT dhe Hud & | I8 TH 3R UM IR0l & §edl ¢ augUd Y &3 &1 HId ¢ | HUN &1 Wl b o8 Tau 331 HIel)
it e Bl © 1 WRA H 9aY HgdyUl U I aTet &3 oRTd, HeRTY, gRATn, f9gR, USlTe, Sigveel, $icd 3R aierg g ISe
TP HEadyUl Bd g | gHaT 8 HRd, S[¢ & Rigid AAfdrs 7 9 U6 ¢ | I8 T-50YH Seel H S1U® U I ST ST § | HRd & Wd SC
IadTed I U ST, 3rW, fogR, IS, iy U 3fiR AuTad § | HIRd, ST & 919 o1 gIRT 9ay 981 SdTed o g1 I & fog

T TTEY1, JUSTS, 3! IRE B gl FEt 3R I= arudT &1 STa=adhdl g1 ¢ 11 ST aTel Jed & Ui &7, STR-Jd HRd 3R
G307 YR § | B! ! T&I TU Y HAled, dHAIg 3R B H ST ST § afdeed, Tha iR HRed YRd H 3T S aTell dH
T foeie & | J 90 U ¥ fogR, IS, IR UG, HERTY 3R UEH e & IS ST ¢ | HTthel H&7 ¥4 I Afierg, HeRTY 3R
3119 TSR H IS SiTell & | HeRTY H fofet §°g UAM TR ST STl g

Sub questions

Question Number : 156 Question Id : 54062615248 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
AERIY # S Ul U B! g THM TR IR &1l 67
Options :

1. % T

2. % dUNY

3.% 49

4. ¢ faa

Question Number : 157 Question Id : 54062615249 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

forerent Wt & forw spreit il gt wardl I gielt 82

Options :

1. % T
2. % ¢



3.« HUY
4. % B

Question Number : 158 Question Id : 54062615250 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
S, BIH! d T fhd UHR P Hd 82
Options :

1. ¢ Tl BRye

2. % TB B

3. % ol By

4. % SGG By

Question Number : 159 Question Id : 54062615251 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
e P U ¥ foo &5 § IS STt 82
Options :

1. ® f9gR

2. ¢ AeArg

3. % IoT

4. % ITRUSK

Question Number : 160 Question Id : 54062615252 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST TR BT IUgad MNP FT G

Options :

1. ¢ d%hcl B
2. % IAGH ¢
3. # Jdlqdh Y
4. % D &
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Group Id : 540626542
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Sub-Section Id : 540626857

Question Shuffling Allowed : Yes

Question Number : 161 Question Id : 54062615253 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

I am addicted (1)/of many things but I (3)/ don’t tell my mother (3)/. No error (4)



Options :

1. % Tam addicted

2. ¥ of many things but I
3. % don’t tell my mother

4. % No error

Question Number : 161 Question Id : 54062615253 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

I am addicted (1)/of many things but I (3)/ don’t tell my mother (3)/. No error (4)
Options :

1. * T am addicted

2. % of many things but I

3. # don’t tell my mother

4. % No error

Question Number : 162 Question Id : 54062615254 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

The treatment strategies (1)/ that we have devised (2)/is still experimental (3)/.No error (4)
Options :

1. # The treatment strategies

2. # that we have devised

3. ¥ is still experimental

4, % No error

Question Number : 162 Question Id : 54062615254 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

The treatment strategies (1)/ that we have devised (2)/is still experimental (3)/.No error (4)
Options :

1. # The treatment strategies

2. % that we have devised

3. ¥ is still experimental

4. % No error

Question Number : 163 Question Id : 54062615255 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

The Taj Mahal in Agra (1)/ is the most perfect (2)/ example of elegance (3)/.No error (4)
Options :

1. % The Taj Mahal in Agra

2. ¥ is the most perfect

3. % example of elegance

4. % No error

Question Number : 163 Question Id : 54062615255 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

The Taj Mahal in Agra (1)/ is the most perfect (2)/ example of elegance (3)/.No error (4)
Options :

1. % The Taj Mahal in Agra

2. ¥ is the most perfect

3. % example of elegance

4. % No error



Question Number : 164 Question Id : 54062615256 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

Countries will need to step upon (1)/there efforts to slow down (2)/global warming over the next decade (3)/.No error (4)
Options :

1. ¥ Countries will need to step upon

2. # there efforts to slow down

3. % global warming over the next decade

4. % No error

Question Number : 164 Question Id : 54062615256 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

Countries will need to step upon (1)/there efforts to slow down (2)/global warming over the next decade (3)/.No error (4)
Options :

1. ¥ Countries will need to step upon

2. # there efforts to slow down

3. % global warming over the next decade

4. # No error

Question Number : 165 Question Id : 54062615257 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

When the surfaces of two objects rub (1)/ against one other, their (2)/ asperities scrape together, creating friction (3)/.No error (4)
Options :
1. * When the surfaces of two objects rub

2. ¥ against one other, their



3. % asperities scrape together, creating friction
4. % No error

Question Number : 165 Question Id : 54062615257 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

When the surfaces of two objects rub (1)/ against one other, their (2)/ asperities scrape together, creating friction (3)/.No error (4)
Options :

1. * When the surfaces of two objects rub

2. ¥ against one other, their

3. # agperities scrape together, creating friction

4, % No error

Question Number : 166 Question Id : 54062615258 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select No
improvement.

She had most expressive face he had ever seen.

Options :

1. % a most expression
2. # more expressive

3. % the most expressive

4. # No Improvement

Question Number : 166 Question Id : 54062615258 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select No
improvement.



She had most expressive face he had ever seen.
Options :

1. % a most expression
2. # more expressive
3. % the most expressive

4. ¥ No Improvement

Question Number : 167 Question Id : 54062615259 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select No
improvement.

The opening to the cave was only a narrow hole between two rocks.
Options :

1. * among both rocks

2. % two rocks had

3. # over two rocks

4. ¥ No Improvement

Question Number : 167 Question Id : 54062615259 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select No
improvement.

The opening to the cave was only a narrow hole between two rocks.
Options :

1. # among both rocks
2. * two rocks had
3. # over two rocks

4. ¥ No Improvement



Question Number : 168 Question Id : 54062615260 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select No
improvement.

The military forces of Napoleon was superior to his opponent.
Options :

1. ¥ were superior to
2. # was superior than
3. % was superior from

4. ¥ No Improvement

Question Number : 168 Question Id : 54062615260 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select No
improvement.

The military forces of Napoleon was superior to his opponent.

Options :

1. ¥ were superior to
2. # was superior than
3. #¥ was superior from

4. ¥ No Improvement

Question Number : 169 Question Id : 54062615261 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select No
improvement.

One of the woman is volunteering for the social cause in our school.



Options :

1. # of the woman are
2. # of woman are

3. % of the women is

4. ¥ No Improvement

Question Number : 169 Question Id : 54062615261 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select No
improvement.

One of the woman is volunteering for the social cause in our school.
Options :

1. # of the woman are

2. % of woman are

3. % of the women is

4. % No Improvement

Question Number : 170 Question Id : 54062615262 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select No
improvement.

He did not lost sight either of the welfare of his army or of the doings of the enemy.
Options :

1. ¥ did not lose sight either of

2. # did not lost sight of either

3. # did not lose sight of either

4. # No Improvement

Question Number : 170 Question Id : 54062615262 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select No
improvement.

He did not lost sight either of the welfare of his army or of the doings of the enemy.

Options :

1. ¥ did not lose sight either of
2. # did not lost sight of either
3. # did not lose sight of either

4. ¥ No Improvement

Question Number : 171 Question Id : 54062615263 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

Kids find going to the park very .
Options :

1. % calm

2. ¥ exciting

3. % provoking

4. # amazing

Question Number : 171 Question Id : 54062615263 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

Kids find going to the park very .
Options :
1. # calm

2. ¥ exciting



3. % provoking

4. # amazing

Question Number : 172 Question Id : 54062615264 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

My grandfather music with no heartfelt lyrics.

Options :

1. # conceals
2. % verse

3. * covert

4. % abominates

Question Number : 172 Question Id : 54062615264 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

My grandfather music with no heartfelt lyrics.
Options :

1. % conceals

2. ® verse

3. % covert

4. ¥ abominates

Question Number : 173 Question Id : 54062615265 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

of these two paths leads to the metro station.



Options :

1. #* Every
2. ¥ Either
3. % Anyone

4. % Some

Question Number : 173 Question Id : 54062615265 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

of these two paths leads to the metro station.
Options :
1. * Every
2. ¥ Either
3. * Anyone

4. % Some

Question Number : 174 Question Id : 54062615266 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

The Secretary and minister is not negligent in duty.
Options :

1. # their

2. % his

3. % there

4. % one’s

Question Number : 174 Question Id : 54062615266 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

The Secretary and minister is not negligent in duty.
Options :

1. * their

2. ¥ his

3. ¥ there

4. % one’s

Question Number : 175 Question Id : 54062615267 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

He has not been successful in his life because of his non ideas.
Options :

1. * regenerative

2. # perplexed

3. ¥ quixotic

4, % common

Question Number : 175 Question Id : 54062615267 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

He has not been successful in his life because of his non ideas.
Options :

1. ¥ regenerative

2. ® perplexed

3. % quixotic

4. % common



Question Number : 176 Question Id : 54062615268 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rearrange the parts of the sentence in correct order.

Ludwig van Beethoven’s

P: works were composed during the last 10 years of his life
Q: when he was quite unable to hear

R: personal life was marked by a heroic struggle against

S: encroaching deafness, and some of his most important

Options :

1. * QRSP
2. % QSPR
3. #* RPSQ
4. ¥ RSPQ

Question Number : 176 Question Id : 54062615268 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rearrange the parts of the sentence in correct order.

Ludwig van Beethoven’s

P: works were composed during the last 10 years of his life
Q: when he was quite unable to hear

R: personal life was marked by a heroic struggle against

S: encroaching deafness, and some of his most important

Options :

1. ¥ QRSP
2. % QSPR
3. % RPSQ
4. ¥ RSPQ

Question Number : 177 Question Id : 54062615269 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Rearrange the parts of the sentence in the correct order.

P: is now established for the longer and more
Q: the term graphic novel

R: the term sequential art is also in use

S: novel-like coherent story, and

Options :

1. # SRPQ
2. % QRPS
3. ¥ PQRS
4. ¥ QPSR

Question Number : 177 Question Id : 54062615269 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rearrange the parts of the sentence in the correct order.

P: is now established for the longer and more
Q: the term graphic novel

R: the term sequential art is also in use

S: novel-like coherent story, and

Options :

1. # SRPQ
2. % QRPS
3. ¥ PQRS
4. ¥ QPSR

Question Number : 178 Question Id : 54062615270 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rearrange the parts of the sentence in the correct order.

P: within 30 to 60 minutes of eating
Q: sometimes excreting



R: bats digest their food extremely fast,
S: to make flight possible,

Options :

1. # RQPS
2. % SPQR
3. ¥ SRQP
4. % SPRQ

Question Number : 178 Question Id : 54062615270 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rearrange the parts of the sentence in the correct order.

P: within 30 to 60 minutes of eating

Q: sometimes excreting

R: bats digest their food extremely fast,
S: to make flight possible,

Options :

1. # RQPS
2. % SPQR
3. ¥ SRQP
4. % SPRQ

Question Number : 179 Question Id : 54062615271 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that means the same as the given word.

Dearth
Options :

1. # Death
2. % Demise
3. % Paragon
4. ¥ Paucity



Question Number : 179 Question Id : 54062615271 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that means the same as the given word.

Dearth
Options :

1. #* Death
2. * Demise
3. * Paragon
4. ¥ Paucity

Question Number : 180 Question Id : 54062615272 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that means the same as the given word.

Secretive
Options :

1. * Confident
2. * Outgoing
3. ¥ Reticent
4. * Pallor

Question Number : 180 Question Id : 54062615272 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that means the same as the given word.

Secretive
Options :
1. # Confident



2. * Outgoing
3. ¥ Reticent

4. * Pallor
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Question Number : 181 Question Id : 54062615273 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Choose the word that means the same as the given word.

Validation
Options :
1. # Sanitation
2. # Accusation
3. % Attestation

4. ¥ Presumption

Question Number : 181 Question Id : 54062615273 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that means the same as the given word.

Validation
Options :
1. # Sanitation
2. # Accusation
3. ¥ Attestation

4. ¥ Presumption

Question Number : 182 Question Id : 54062615274 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that is opposite in meaning to the given word.

Acquisitive
Options :

1. ¥ Unsparing
2. % Relentless
3. # Begrudging
4. % Grudging



Question Number : 182 Question Id : 54062615274 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that is opposite in meaning to the given word.

Acquisitive
Options :

1. ¥ Unsparing
2. % Relentless
3. % Begrudging
4. # Grudging

Question Number : 183 Question Id : 54062615275 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that is opposite in meaning to the given word.

Adjunct
Options :

1. # Filler

2. ¥ Essential
3. # Incidental

4. % Paragon

Question Number : 183 Question Id : 54062615275 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that is opposite in meaning to the given word.

Adjunct
Options :
1. # Filler



2. % Essential
3. * Incidental

4. ¥ Paragon

Question Number : 184 Question Id : 54062615276 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that is opposite in meaning to the given word.

Allurement
Options :

1. # Prologue

2. % Forewarning
3. # Impetus

4. % Owns

Question Number : 184 Question Id : 54062615276 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that is opposite in meaning to the given word.

Allurement
Options :

1. # Prologue

2. ¥ Forewarning
3. # Impetus

4. % Owns

Question Number : 185 Question Id : 54062615277 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :



1. #* Incrament
2. * Incriement
3. ¥ Increment

4. * Incriment

Question Number : 185 Question Id : 54062615277 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. # Incrament

2. # Incriement

3. % Increment

4. % Incriment

Question Number : 186 Question Id : 54062615278 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. % Repireve

2. % Reprive

3. # Repreive

4. ¥ Reprieve

Question Number : 186 Question Id : 54062615278 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. # Repireve

2. % Reprive



3. % Repreive

4. ¥ Reprieve

Question Number : 187 Question Id : 54062615279 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. ¥ Dissolution

2. # Disolution

3. % Dissolutoin

4. % Disolutoin

Question Number : 187 Question Id : 54062615279 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. # Dissolution

2. # Disolution

3. % Dissolutoin

4. % Disolutoin

Question Number : 188 Question Id : 54062615280 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. # Pesuedonym

2. ¥ Pseudonym

3. ® Psuedonym

4. % Psudonym



Question Number : 188 Question Id : 54062615280 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. # Pesuedonym

2. ¥ Pseudonym

3. # Psuedonym

4. ¥ Psudonym

Question Number : 189 Question Id : 54062615281 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

A hard nut to crack
Options :

1. # A manipulative person
2. % A difficult task

3. # To have a strong mind

4. % A man with no values

Question Number : 189 Question Id : 54062615281 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

A hard nut to crack
Options :

1. # A manipulative person
2. ¥ A difficult task

3. % To have a strong mind



4. % A man with no values

Question Number : 190 Question Id : 54062615282 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

To cudgel one’s brain
Options :

1. % To think hard

2. # To assault someone
3. * To trip and fall

4. % To day dream

Question Number : 190 Question Id : 54062615282 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

To cudgel one’s brain
Options :

1. % To think hard

2. # To assault someone
3. % To trip and fall

4. ® To day dream

Question Number : 191 Question Id : 54062615283 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

To take to one’s heels
Options :



1. # To criticise someone
2. # To talk incessantly
3. % To pacify someone

4. ¥ To run away

Question Number : 191 Question Id : 54062615283 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

To take to one’s heels
Options :

1. # To criticise someone
2. # To talk incessantly
3. # To pacify someone

4. % To run away

Question Number : 192 Question Id : 54062615284 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that can substitute the given sentence.

A regime where god is the ruler
Options :

1. #® Oligarchy

2. ¥ Theocracy

3. ¥ Monarchy

4. % Finalism

Question Number : 192 Question Id : 54062615284 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that can substitute the given sentence.



A regime where god is the ruler
Options :

1. % Oligarchy

2. % Theocracy

3. # Monarchy

4. % Finalism

Question Number : 193 Question Id
Orientation : Vertical

: 54062615285 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that can substitute the given sentence.

One who feeds on flesh
Options :

1. # Apivorous

2. % Herbivorous

3. % Carnivorous

4. % Omnivorous

Question Number : 193 Question Id
Orientation : Vertical

: 54062615285 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that can substitute the given sentence.

One who feeds on flesh
Options :

1. # Apivorous

2. % Herbivorous

3. ¥ Carnivorous

4. % Omnivorous

Question Number : 194 Question Id

: 54062615286 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Choose the word that can substitute the given sentence.

Incapable of being read
Options :

1. % Decrypt

2. % Ineligible

3. ¥ Tllegible

4. % Tllegal

Question Number : 194 Question Id : 54062615286 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that can substitute the given sentence.

Incapable of being read
Options :

1. # Decrypt

2. % Ineligible

3. ¥ Illegible

4. # Tllegal

Question Number : 195 Question Id : 54062615287 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that can substitute the given sentence.

Killing of one’s sister
Options :

1. # Nepoticide

2. % Sororicide

3. * Filicide



4. % Matricide

Question Number : 195 Question Id : 54062615287 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that can substitute the given sentence.

Killing of one’s sister
Options :

1. # Nepoticide

2. % Sororicide

3. * Filicide

4. # Matricide

Sub-Section Number : 2
Sub-Section Id : 540626859
Question Shuffling Allowed : Yes

Question Id : 54062615288 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (196 to 200)
Read the following information carefully and answer the given questions.

There’s more to beach sand than meets the eye. It has stories to tell about the land and an epic journey to the sea. That’s because mountains end
their lives as the sand on beaches.

Over time, mountains erode. The mud, sand, gravel, cobbles and boulders they shed are washed into streams, which come together to form rivers.
As they flow down to the sea, all this sediment is ground up and worn down in nature’s version of a rock tumbler.

Big rocks break down into smaller pieces, so most of what reaches the sea are mud. These silt and clay particles are too small to perceive with the
naked eye. But you can see individual grains of sand, which are just bigger bits of rock.

Different colours of sand come from different minerals, like khaki feldspar, smoky white quartz, green olivine or black basalt. The mix of colours
in beach sand tells you what kinds of rocks produced it.

The shape of sand grains also provides clues about where they come from. Angular grains of the same type of sand have not travelled as far as
smooth round grains, which have been more worn down. And weak rocks break down to mud faster than hard rocks, so sand tends to be made of
the harder types that break down slowly.

About a tenth of the supply of sediment that reaches the sea is sand. These particles are between about half a millimetre and 2 millimetres in size
—roughly as thick as a penny. These particles are large enough that they don’t flow right out to the deep sea. But the beach is just a temporary



stop for sand. Big waves pull it offshore, and smaller waves push it along the coast. So keeping a beach nourished with sand is essential for
keeping it sandy.
Sub questions

Question Number : 196 Question Id : 54062615289 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the central idea of the given passage?

Options :

1. ¥ To understand from where does the beach sand come.

2. % To discuss various types of rocks involved in the process of beach sand formation
3. # To bring forth the structure of sand among the readers.

4. ® To understand the deformation of various sand particles.

Question Number : 197 Question Id : 54062615290 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

“It has stories to tell about the land and an epic journey to the sea.” What kind of stories has been mentioned by the author here?
Options :

1. ¥ How different landforms after constant erosion land up to the sea and then ultimately to the beach shore.

2. % How beach sand is connected to different mountains.

3. ¥ How old mountains are continuously weathering and shedding their particles in to the beach directly.

4. ® How different kind of rocks are producing sand grains and their history.

Question Number : 198 Question Id : 54062615291 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Identify the correct antonym of the word ‘nourish’?
Options :

1. # sustain

2. ¥ famished

3. # cherish

4. ¥ nurture



Question Number : 199 Question Id : 54062615292 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement is/are true as per the given passage?

I. The mix of colours in beach sand tells us more about the beach sand.
II. Mountains also play a pivotal role in the formation of beach sand.

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. ¥ Neither I nor II

Question Number : 200 Question Id : 54062615293 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following mineral is not responsible for color of the beach sand?
Options :

1. # Khaki feldspar

2. # Smoky white quartz

3. #® Green olivine

4. ¥ Brown basalt

Question Id : 54062615288 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (196 to 200)
Read the following information carefully and answer the given questions.

There’s more to beach sand than meets the eye. It has stories to tell about the land and an epic journey to the sea. That’s because mountains end
their lives as the sand on beaches.

Over time, mountains erode. The mud, sand, gravel, cobbles and boulders they shed are washed into streams, which come together to form rivers.
As they flow down to the sea, all this sediment is ground up and worn down in nature’s version of a rock tumbler.

Big rocks break down into smaller pieces, so most of what reaches the sea are mud. These silt and clay particles are too small to perceive with the
naked eye. But you can see individual grains of sand, which are just bigger bits of rock.



Different colours of sand come from different minerals, like khaki feldspar, smoky white quartz, green olivine or black basalt. The mix of colours
in beach sand tells you what kinds of rocks produced it.

The shape of sand grains also provides clues about where they come from. Angular grains of the same type of sand have not travelled as far as
smooth round grains, which have been more worn down. And weak rocks break down to mud faster than hard rocks, so sand tends to be made of
the harder types that break down slowly.

About a tenth of the supply of sediment that reaches the sea is sand. These particles are between about half a millimetre and 2 millimetres in size
—roughly as thick as a penny. These particles are large enough that they don’t flow right out to the deep sea. But the beach is just a temporary
stop for sand. Big waves pull it offshore, and smaller waves push it along the coast. So keeping a beach nourished with sand is essential for
keeping it sandy.

Sub questions

Question Number : 196 Question Id : 54062615289 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the central idea of the given passage?

Options :

1. ¥ To understand from where does the beach sand come.

2. % To discuss various types of rocks involved in the process of beach sand formation
3. # To bring forth the structure of sand among the readers.

4. ® To understand the deformation of various sand particles.

Question Number : 197 Question Id : 54062615290 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

“It has stories to tell about the land and an epic journey to the sea.” What kind of stories has been mentioned by the author here?
Options :

1. ¥ How different landforms after constant erosion land up to the sea and then ultimately to the beach shore.

2. % How beach sand is connected to different mountains.

3. # How old mountains are continuously weathering and shedding their particles in to the beach directly.

4. ® How different kind of rocks are producing sand grains and their history.

Question Number : 198 Question Id : 54062615291 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Identify the correct antonym of the word ‘nourish’?



Options :

1. # sustain
2. ¥ famished
3. % cherish

4. * nurture

Question Number : 199 Question Id : 54062615292 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement is/are true as per the given passage?

I. The mix of colours in beach sand tells us more about the beach sand.
II. Mountains also play a pivotal role in the formation of beach sand.

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. ¥ Neither I nor II

Question Number : 200 Question Id : 54062615293 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following mineral is not responsible for color of the beach sand?
Options :

1. # Khaki feldspar

2. # Smoky white quartz

3. #® Green olivine

4. ¥ Brown basalt



